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Question ID:- 181

 Options:-

.1, Option ID :- 721,

. 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 1, Option ID : -721

Question ID:- 182

 Options:-

.1, Option ID :- 725,

. 2, Option ID :- 726,

. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 3, Option ID : -727

Question ID:- 183
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Subject : GE_Q01-Q10_PGTGEO

Question ID:- 181

Rearrange the parts in correct order to make a meaningful sentence :
(a) and broke its window pane
(b) threw stones at it
(c) the urchins
(d) when the car passed by,

(1) (c) (d) (b) (a)
(2) (d) (c) (b) (a)
(3) (b) (a) (c) (d)
(4) (a) (b) (c) (d)

Options:-

.1, Option ID :- 721,

. 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID > 724,
Answer Given:- 1, Option ID : -721

Question ID:- 182

Change the following sentence from Active Voice to Passive Voice.
Some local residents were helping the wounded soldier.
(1) Some local residents were being helped by the Wounded soldier
(2) The wounded soldier was helped by some local residents
(3) The wounded soldier was being helped by some local residents
(4) Help was being given to the wounded soldier by some local residents.

Options:-

.1, Option ID :- 725,

. 2, Option ID :- 726,

. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 3, Option ID : -727

Question ID:- 183
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 Options:-  

.1, Option ID :- 729,  

. 2, Option ID :- 730,  

. 3, Option ID :- 731,  

. 4, Option ID :- 732,  

 Answer Given:- 2, Option ID : -730  
   
   
 Question ID:- 184  

   

 Options:-  

.1, Option ID :- 733,  

. 2, Option ID :- 734,  

. 3, Option ID :- 735,  

. 4, Option ID :- 736,  

 Answer Given:- 4, Option ID : -736  
   
   
 Question ID:- 185  

   

 Options:-  

.1, Option ID :- 737,  

. 2, Option ID :- 738,  

. 3, Option ID :- 739,  

. 4, Option ID :- 740,  

 Answer Given:- 4, Option ID : -740  
   
   
 Question ID:- 186  

Fill in the blank with the correct preposition.
the thief who had stolen their belongings.They ran _

(1) from
(2) after
(3) with
(4) in

Options:-

.1, Option ID 729,

. 2, Option I D 7 3 0,

. 3, Option ID > 731,

. 4, Option ID 732,
Answer Given:- 2, Option ID : -730

Question ID> 184

Choose the correct tense form from the given options.
This was the first time the mighty king had lost a battle.
(1) Past Indefinite
(2) Past Continuous
(3) Past Perfect
(4) Past Perfect Continuous

Options:-

.1, Option ID :- 733,

. 2, Option ID :- 734,

. 3, Option ID :- 735,

. 4, Option ID :- 736,
Answer Given:- 4, Option ID : -736

Question ID:- 185

Change the following sentence from Direct Speech into Indirect Speech.
The youngman said to his parents, 'You will have to adjust to the changing times'.
(1) That they would have to adjust to the changing times the youngman told his parents.
(2) The youngman told his parents that they must adjust to the changing times.
(3) The youngman told his parents that they would have to adjust to the changing times.
(4) The youngman told his parents that he (the youngman) would have to adjust to the changing

times.
Options:-

.1, Option ID :- 737,

. 2, Option ID :- 738,

. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 4, Option ID : -740

Question ID:- 186
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 Options:-  

.1, Option ID :- 741,  

. 2, Option ID :- 742,  

. 3, Option ID :- 743,  

. 4, Option ID :- 744,  

 Answer Given:- 3, Option ID : -743  
   
   
 Question ID:- 187  

   

 Options:-  

.1, Option ID :- 745,  

. 2, Option ID :- 746,  

. 3, Option ID :- 747,  

. 4, Option ID :- 748,  

 Answer Given:- 2, Option ID : -746  
   
   
 Question ID:- 188  

   

 Options:-  

.1, Option ID :- 749,  

. 2, Option ID :- 750,  

. 3, Option ID :- 751,  

. 4, Option ID :- 752,  

 Answer Given:- 2, Option ID : -750  
   
   
 Question ID:- 189  

Identify the part which has an error in it.
From this place, / Meerut is / over ten miles / the shortest route

(2) (3) (4)(1)

Options:-

.1, Option ID 741,

. 2, Option ID 742,

. 3, Option ID 743,

. 4, Option ID 744,
Answer Given:- 3, Option ID : -743

Question ID> 187

Choose the word nearest in meaning to the given word.

ABETMENT
(1) enmity
(2) assistance
(3) revenge
(4) reaction

Options:-

.1, Option ID :- 745,

. 2, Option ID :- 746,

. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 2, Option ID : -746

Question ID:- 188

Choose the word opposite in meaning to the given word.
SLOTHFUL

(1) healthy
(2) active
(3) intelligent
(4) indolent

Options:-

.1, Option ID :- 749,

. 2, Option ID :- 750,

. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189
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 Options:-  

.1, Option ID :- 753,  

. 2, Option ID :- 754,  

. 3, Option ID :- 755,  

. 4, Option ID :- 756,  

 Answer Given:- 3, Option ID : -755  
   
   
 Question ID:- 190  

   

 Options:-  

.1, Option ID :- 757,  

. 2, Option ID :- 758,  

. 3, Option ID :- 759,  

. 4, Option ID :- 760,  

 Answer Given:- 2, Option ID : -758  
   
 Subject : GH_Q11-Q20_PGTGEO  
   
   
 Question ID:- 191  

   

 Options:-  

.1, Option ID :- 761,  

Identify the part of speech of the given word.

Moderate fasting is good for health, so testify the medical experts.

(1) Pronoun
(2) Verb
(3) Noun
(4) Conjunction

Options:-

.1, Option ID 753,

. 2, Option I D 7 5 4,

. 3, Option ID 755,

. 4, Option ID 756,
Answer Given:- 3, Option ID : -755

Question ID:- 190

Have you finished reading the book
What punctuation mark should be placed at the end of the sentence ?
(1) Full stop
(2) Mark of interogation
(3) Semi-colon
(4) Mark of Exclamation

Options:-

.1, Option ID :- 757,

. 2, Option ID :- 758,

. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 2, Option ID : -758
Subject : GH_Q11-Q20_PGTGEO

Question ID:- 191

PinfelRsid WI suffer MR RiT Tflft RTR <lp4M, :

TFTR if fa^lHd RR PCRIR R|?R 11 R̂*ftRRT l̂|R if f =b*fi dcRId Tt RIRR
f^TPR '5RT if 'siMehl'O RTRT RRft Rft y ^Rl Tift % I f^TFH if dtRIR vJH^jRd 'SR^I^clT cR>

if *HRNdl pneldl % I *fRR eft Rift TFjnf 'foR if faqilHd RRff7Pft RR RgR RfT RR % I fRRTRR T-ftP-iftl
% RRRfcIR 3#TRKR HRMRpf if 11^T RTFR % if *ft 3pfT fiHIRk-RRt % PI^Ff Tl fRRTRR
•RgRT^f I

RR’HtRRT if ^ fftvR RTI? Rft "R^frf Tift % ?
(1) 8CHIR Rif isnlR'l 7^ Rl?cft <J^=hl fcf ^llH-l Rft
(2) fRRTRR ^RT RTf% RTT if 'JlM'bkl RTRT RRft Rft
(3) iWFTR 'gRI Rft
(4) fRRTRR 3fk RRRR 3TTRR efft Rft

Options:-

.1, Option ID :- 761,

https://applink.adda247.com/d/XhqWf9lSap
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. 2, Option ID :- 762,  

. 3, Option ID :- 763,  

. 4, Option ID :- 764,  

 Answer Given:- 2, Option ID : -762  
   
   
 Question ID:- 192  

   

 Options:-  

.1, Option ID :- 765,  

. 2, Option ID :- 766,  

. 3, Option ID :- 767,  

. 4, Option ID :- 768,  

 Answer Given:- 2, Option ID : -766  
   
   
 Question ID:- 193  

   

 Options:-  

.1, Option ID :- 769,  

. 2, Option ID :- 770,  

. 3, Option ID :- 771,  

. 4, Option ID :- 772,  

 Answer Given:- 4, Option ID : -772  

. 2, Option ID > 762,

. 3, Option ID 763,

. 4, Option ID > 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192

PlHpdRsld TRTP?lR?f •STI '-K 37TRTfef y^d RiT 3TK <plP4t{ :

RciHH 7R7R 3 R>T PMIM R!RR 11RMftRRT R^f % Ri|R R%R7!3 'f%7ft 3R7TR R>t feiOcH ^pcl^im 'gRT R77% Rft 3 RHRIKI RIRT RR f̂ R>t y^Prl Tsft % I pc^im 3 3RI« %t 377% 3'7i]>4d 3RRf^RT RR>

yfRl^ "*¥ 7l??Ndl Ptcidl % I RRR T?t Rt?f TTjyf fRRR Pcf îlHd ^'PH4T RR R|R RgT RR 77f%R % I f^TPTR
% RiWldR STpRRFR H£M4Kl 1 ^7 R7IR % £f% 3 *ft "PP=4l, %%fRRR 3fft HHlRR-RRT % RRRR ^ fRRTRR
RfRTltl
P̂ NH •Hel -M't) itcf t ?
(1) dldvG l%rii} cf
(2) 3c4K R7t 3M<iRd 3^*4)Rtll RR^ H§R (H

(3) Rf%MR7t$JT 3 77R>?T 3
(4) 'QtfffTRf RR pRTdK TftfHd RR^ 3

Options:-

.1, Option ID :- 765,

. 2, Option ID :- 766,

. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 2, Option ID : -766

Question ID:- 193

PdHplRsid RSllVl R?f UiHujcJcb 3T7M7 37TR[f7R MR RR Wt 3R7 <lpRM, :

R^HM 77RR PisllHR RR fRRTR R?7R11RRRtRRT R4 % R?>R R^R f̂ ^ pRv<-fi <JrMI«4 R>f 7R7f%T 7t R5cR
pRRim RRT 377% R% Tf RMRR<] yr<1 =h<*-t R>t ycjFd % I pRRIMd ^ 8cHI<^ Rif '377% dH^Rd RRRf^jRT RRi

RfRFt3 77IRRRT fHddl 11RI7R #R^f 77^iRRR f^TTRR R%77Rf RR RgR RRT RR 77f%R % I fRRPTR R%7T%
% RRR%TR 37fRRRR RRFPTTT ^f "f I ^7 R7FR % *¥ Rt \f%Tf, %%fRRR sfk TTMRR-RRt % RIRR 7p f%fTRR
RjRT^flfRRTRR R%77Rt RR RR RRR RRT %FfT % ?
(1) W
(2) H$MJK

(3) <MRlPl4f
(4) TRĴ f f%R

Options:-

.1, Option ID :- 769,

. 2, Option ID :- 770,

. 3, Option ID > 771,

. 4, Option ID > 772,
Answer Given:- 4, Option ID : -772
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 Question ID:- 194  

   

 Options:-  

.1, Option ID :- 773,  

. 2, Option ID :- 774,  

. 3, Option ID :- 775,  

. 4, Option ID :- 776,  

 Answer Given:- 1, Option ID : -773  
   
   
 Question ID:- 195  

   

 Options:-  

.1, Option ID :- 777,  

. 2, Option ID :- 778,  

. 3, Option ID :- 779,  

. 4, Option ID :- 780,  

 Answer Given:- 4, Option ID : -780  
   
   
 Question ID:- 196  

Question ID:- 194

P'IHR'IRSICI Wi M<S<=b< STT^TlfeT W3 Wf '3rR

fastlHd 1 1 % T? î ®f§<T "3 feiTft <5rHI <;=Pt ^fadim gRT <5fi+ RR 3 'JlHcblO RTO ^>Rf U^PTI Tl?t % I f R̂IRFf ^ 6d1K =fit 6M^=k1 TT̂ T

H|-C|I^ f̂ HSI -Mdl fncirPl 11 T̂RcT # TPĴ f ^f Pqtfm TT^ff̂ Rf T̂ |̂<T ®T5T cf̂ uPsb -M % I P̂ IH

% R̂rfePT 3#.J3KR H6l-Hki 311gT gTRf % R *ft \Ps4l, itfiRltfd 3?R TTRTRR-RRt % RÎ R ^1WPRT

% sNf ff f̂ TRH H£̂ H 3 PinRlRan R Tf RTR RT WRR> Riff t ?
(1) fRRte
(2)
(3) tcftfRRIR
(4) RRIRRRR

:

Options:-

.1, Option ID :- 773,

. 2, Option ID :- 774,

. 3, Option ID :- 775,

. 4, Option ID :- 776,
Answer Given:- 1, Option ID : -773

Question ID:- 195

PinPclRad dtlRl R?f SfTRTfet y $M RR 8TK (pipe's :

3cfHH RRR 3 fq îlHd R>T PR^IM RIRR 11RRRtRRT % TT^Rj|R fRRTf -drHIc;^ IsiOcH ^RI?R
pcl l̂im gRT RR^Rft 3 'JlHcbl'O RTRT RR f̂ R>t 9^PT1 Tiff % I fa^im 3 RRTfg Rif RR% WJ3R R̂T T̂P^cTT RRT

Mf-cjl') 3 RIJTRrff fnddl % I RRR iff Riff TTĴ f fRRR *¥ PcitflHd TJ^ff F̂RTf RH R|R oTSf RR RfRTR % I fdRIHd ^Tk'-Pi
% RiWfdR STfRRRR H£H4Kl *1f I gT gRR % £|RT Rt \P=4l, ieftfaRd 3fft RRTRR-RRT % RRRR Tt fRRRFT
RfRTltl
PiHpnRad f̂ 3RRTR g^R t :

(1) RRJ3R - 3t^H^=K1

(2) RfRTR - PlPsb’M

(3) RfRRRR - =tiHd<
(4) - Rg?f

Options:-

.1, Option ID :- 777,

. 2, Option ID :- 778,

. 3, Option ID :- 779,

. 4, Option ID :- 780,
Answer Given:- 4, Option ID : -780

Question ID:- 196
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 Options:-  

.1, Option ID :- 781,  

. 2, Option ID :- 782,  

. 3, Option ID :- 783,  

. 4, Option ID :- 784,  

 Answer Given:- 4, Option ID : -784  
   
   
 Question ID:- 197  

   

 Options:-  

.1, Option ID :- 785,  

. 2, Option ID :- 786,  

. 3, Option ID :- 787,  

. 4, Option ID :- 788,  

 Answer Given:- 4, Option ID : -788  
   
   
 Question ID:- 198  

   

 Options:-  

.1, Option ID :- 789,  

. 2, Option ID :- 790,  

. 3, Option ID :- 791,  

. 4, Option ID :- 792,  

 Answer Given:- 1, Option ID : -789  
   
   
 Question ID:- 199  

PinfelRsld 3 3T?TTTcr "?pT f :

(1) ^ y =blPf!d T?ft M̂T - dlftf=b

(2) RTRIT!? T3^F) ÔR y=hlPfld T? T3 ^TcTT - fiMllFb
(3) ’TSF T3 =Fr ®TR WfW T̂eTT - 'Rff̂
(4) W3 y <=hlf^ld T̂cTT - HlB=b

Options:-

.1, Option ID :- 781,

. 2, Option ID :- 782,

. 3, Option ID > 783,

. 4, Option ID > 784,
Answer Given:- 4, Option ID : -784

Question ID:- 197

FinfeiRad cfRRT ?T®? ^Tsrf % :

(1) 3Tf̂
(2) wft
(3) W

(4)

Options:-

.1, Option ID :- 785,

. 2, Option ID :- 786,

. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 4, Option ID : -788

Question ID:- 198

lsm'
(1) FT
(2) TFR

(3) FT
(4) ^

Options:-

.1, Option ID :- 789,

. 2, Option ID :- 790,

. 3, Option ID :- 791,

. 4, Option ID :- 792,
Answer Given:- 1, Option ID : -789

Question ID:- 199
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 Options:-  

.1, Option ID :- 793,  

. 2, Option ID :- 794,  

. 3, Option ID :- 795,  

. 4, Option ID :- 796,  

 Answer Given:- 4, Option ID : -796  
   
   
 Question ID:- 200  

   

 Options:-  

.1, Option ID :- 797,  

. 2, Option ID :- 798,  

. 3, Option ID :- 799,  

. 4, Option ID :- 800,  

 Answer Given:- 2, Option ID : -798  
   
 Subject : GA_Q21-Q30_PGTGEO  
   
   
 Question ID:- 201  
   

(1)
(2)
(3) -qra

(4)

Options:-

.1, Option ID 793,

. 2, Option I D 7 9 4,

. 3, Option ID > 795,

. 4, Option ID 796,
Answer Given:- 4, Option ID : -796

Question ID> 200

* f :

(1) TRFTt + *n°f

(2) W ]: + ’m
(3) TH +

(4) Tpfa + 3TTcf

Options:-

.1, Option ID :- 797,

. 2, Option ID :- 798,

. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 2, Option ID : -798
Subject : GA_Q21-Q30_PGTGEO

Question ID:- 201

Assertion (A) : State can impose reasonable restriction on the exercise of right to freedom of
speech and expression guaranteed by the Indian constitution.
Reasonable restriction cannot be imposed on right to freedom of speech and
expression in relation to contempt of court.

Choose the correct answer from the codes below :
(1) (A) is correct but (R) is wrong
(2) Both (A) and (R) are correct and (R) explains (A)
(3) Both (A) and (R) are correct but (R) does not explain (A)
(4) Both (A) and (R) are wrong

Reason (R) :

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 801,  

. 2, Option ID :- 802,  

. 3, Option ID :- 803,  

. 4, Option ID :- 804,  

 Answer Given:- 1, Option ID : -801  
   
   
 Question ID:- 202  

   

 Options:-  

.1, Option ID :- 805,  

. 2, Option ID :- 806,  

. 3, Option ID :- 807,  

. 4, Option ID :- 808,  

 Answer Given:- 3, Option ID : -807  
   
   
 Question ID:- 203  

3TfRR?2R (A) : RJR, RRcT % RfRRH igRT MKci^d RTR? RRdVi 31k 3TfRot|pfci % 3#IR?R % RRhT TO

^Pdd^dd PT4RR RFTT RRicf f I

NNIeN R?1 RdHMdl % RRR k- RTRj fdldN RR RfTORfRd % SlfRRjR TO -HPddykl
f̂ RR TOTf elJINI RT ^didl 11

Rp^ Rir -^z R Riff RTO RR RRR ch|Pdi< :

(1) (A) Refl % 5flR (R) RTO t
(2) (A) 3?R (R) RtRf, R?t t RRT (R), (A)^\ ^RTOTT t
(3) (A) 3fR (R) ^Rt f 1^(R), (A) Rit T̂T̂ TI Rff TOT t
(4) (A) (R) #Tf TOR f

cP& (R) :

Options:-

.1, Option ID :- 801,

. 2, Option ID > 802,

. 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 1, Option ID : -801

Question ID:- 202

Which of the following statements is correct about the 'Agile' approach to policy making ?
(1) It follows a rigid up-front plan for implementation
(2) It does not use feedback loops
(3) It uses real-time adjustment
(4) It is the same as the 'waterfall' framework to policy making

Rtfa Pwful R>t ‘Rfs5R’ ( M,sdl^el) M«gjd %Rk R pTHprlRad R k R?R RT R>RR Refl % ?
(1) Re? fsfvMM'Md % iRTt TOFT RTCsT 3TTOPS klRdl R>T MleH RRdt %
(2) Re? <bU^db cJR RTT RRtR 3# RRcft t
(3) Re? ffTOT-R^R RRIRRH RiT RRtR RTOft t
(4) Re? Rtfd Pinful R?T ‘RTTORTOT ibHd4> ’ TOgfcT % RRTR t

Options:-

.1, Option ID :- 805,

. 2, Option ID :- 806,

. 3, Option ID :- 807,

. 4, Option ID :- 808,
Answer Given:- 3, Option ID : -807

Question ID:- 203

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 809,  

. 2, Option ID :- 810,  

. 3, Option ID :- 811,  

. 4, Option ID :- 812,  

 Answer Given:- 1, Option ID : -809  
   
   
 Question ID:- 204  

   

 Options:-  

.1, Option ID :- 813,  

. 2, Option ID :- 814,  

. 3, Option ID :- 815,  

. 4, Option ID :- 816,  

 Answer Given:- 2, Option ID : -814  
   
   
 Question ID:- 205  

Who had devised the policy called the 'Doctrine of Lapse' in Colonial India ?
(1) Lord Dalhousie
(2) Lord Hastings
(3) Lord Cornwallis
(4) Lord Wellesley

(1)
(2) efri
(3) eiT4 chi'icuRn^
(4) HM

Options:-

.1, Option ID 809,

. 2, Option ID 810,

. 3, Option ID > 811,

. 4, Option ID 812,
Answer Given:- 1, Option ID : -809

Question ID:- 204

Which of the following is the finest iron ore with high content of iron upto 70% ?
(1) Hematite
(2) Magnetite
(3) Mica
(4) Cobalt

PinfclPad *¥ ctnr 3TT % fSRT̂ ’ 70 yfcRId eTT^T "RFIT "SfRTT f ?
(1)
(2) £) HldI$<£

(3) 3

(4) =hlailed

Options:-

.1, Option ID :- 813,

. 2, Option ID > 814,

. 3, Option ID :- 815,

. 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814

Question ID> 205
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 Options:-  

.1, Option ID :- 817,  

. 2, Option ID :- 818,  

. 3, Option ID :- 819,  

. 4, Option ID :- 820,  

 Answer Given:- 1, Option ID : -817  
   
   
 Question ID:- 206  

   

 Options:-  

.1, Option ID :- 821,  

. 2, Option ID :- 822,  

. 3, Option ID :- 823,  

. 4, Option ID :- 824,  

 Answer Given:- 2, Option ID : -822  
   
   
 Question ID:- 207  

Which among the following was the earliest arms control treaty which banned nuclear weapon
tests in the outer space and under water ?
(1) Nuclear Non-Proliferation Treaty
(2) Limited Test Bair Treaty
(3) Strategic Arms Limitation Talks I
(4) Comprehensive Nuclear Test Ban Treaty

fHHR'iRad if if fn̂ i 4rfV 4ft «ft aftrfej aftr xfpft % TfteFi
yfcHfaci ?
(1) WfB3 3TO4TR 4Tf*T

(2) 4ftfftcf TftSFI TfftRV 4Tfa
(3) UwR=h fftsPTR 4ftPT3R I
(4) oMIM4> WTFJ RfcRSf 4ff*T

Options:-

.1, Option ID 817,

. 2, Option ID 818,

. 3, Option ID 819,

. 4, Option ID > 820,
Answer Given:- 1, Option ID : -817

Question ID:- 206

Which of the following units makes Cellulose ?
(1) Fructose
(2) Glucose
(3) Sucrose
(4) Ribose

RinRiRsid if 4^ 4ft^>ff 4^ ^>T RIHIUI iftcIT % ?
(1)
(2)
(3) ysbl'Ji

(4) ti^oil'Ji

Options:-

.1, Option ID :- 821,

. 2, Option ID :- 822,

. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 207
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 Options:-  

.1, Option ID :- 825,  

. 2, Option ID :- 826,  

. 3, Option ID :- 827,  

. 4, Option ID :- 828,  

 Answer Given:- 4, Option ID : -828  
   
   
 Question ID:- 208  

   

 Options:-  

.1, Option ID :- 829,  

. 2, Option ID :- 830,  

. 3, Option ID :- 831,  

. 4, Option ID :- 832,  

 Answer Given:- 4, Option ID : -832  
   
   
 Question ID:- 209  

Which of the following are Oviparous animals ?
(1) Hen and Cat
(2) Cat and Dog
(3) Crow and Dog
(4) Hen and Crow

PinRiRad ^ ^ f ?
(1)
(2) fartfl sffc JrfT
(3) =frHl 3^T ^TriT

(4) ‘ffff 3ffc =fit̂ T

Options:-

.1, Option ID 825,

. 2, Option ID 826,

. 3, Option ID > 827,

. 4, Option ID > 828,
Answer Given:- 4, Option ID : -828

Question ID> 208

Who among the following players won the FIFA World Cup 2022,'Young Player of the Tournament'
award ?
(1) Kylian Mbappe
(2) Alexis Mac Allister
(3) Rodrigo De Paul
(4) Enzo Fernandez

Lh1'+> l WT, 20223 ‘ 3Tfa> ’ =FT 1%RT Rslvll^l % ' f̂tcTT ?
(1) P̂TTfcPH H ®ll ^
(2)

(3) Wf

(4)

Options:-

.1, Option ID :- 829,

. 2, Option ID :- 830,

. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 4, Option ID : -832

Question ID> 209
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 Options:-  

.1, Option ID :- 833,  

. 2, Option ID :- 834,  

. 3, Option ID :- 835,  

. 4, Option ID :- 836,  

 Answer Given:- 1, Option ID : -833  
   
   
 Question ID:- 210  
   

Who among the following authors won the 'Sahitya Akademi Yuva Puraskar' 2022, in Sanskrit,
language ?
(1) Madhusudan Mishr
(2) Pankaj Kumar Jha
(3) Shruti Prasad Kanitkar
(4) Shubrajit Sen

*¥ 1
'HifecM 2022 Pi*—ifciRaa 3 feRT efisc+i^ fhcTl ?

(!) fa*
(2) Hdi'Jl f̂RTR
(3) =blfdd=h<
(4) ipnsffa

Options:-

.1, Option ID 833,

. 2, Option ID 834,

. 3, Option ID 835,

. 4, Option ID > 836,
Answer Given:- 1, Option ID : -833

Question ID:- 210

Match the terms given in List - I with their nature/use in list - II.
List -1

(A) USB
List - II

(I) Enables user to access programs on a computer through image objects
that are linked to the programs

(II) A file format used for compressed image files
(III) A software designed to take a scanned text as input and convert it

into its ASCII coded equivalent
(IV) Connects peripherals in which data is transmitted serially

Select the correct answer using the codes given below :

(B) GUI
(C) GIF

(D) OCR

(1) (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
(2) (A)-(II), (B)-(III), (C)-(TV), (D)-(I)
(3) (A)-(III), (B)-(IV), (C)-(I), (D)-(II)
(4) (A)-(IV), (B)-(I), (C)-(II), (D)-(III)
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 Options:-  

.1, Option ID :- 837,  

. 2, Option ID :- 838,  

. 3, Option ID :- 839,  

. 4, Option ID :- 840,  

 Answer Given:- 4, Option ID : -840  
   
 Subject : RA_Q31-Q35_PGTGEO  
   
   
 Question ID:- 211  

   

 Options:-  

.1, Option ID :- 841,  

. 2, Option ID :- 842,  

. 3, Option ID :- 843,  

. 4, Option ID :- 844,  

 Answer Given:- 2, Option ID : -842  

TTcft -I if f^TT TfiT Tfcft ITcft-II, if f^TT TTIT y < j) Pd/'R#rT ^ fadH cblfat ^ :

^-1
(A) (i) y4l=wi^ libim f̂ i 3 T̂<M =fd % ITT̂ R^ di^cu^'sfirnrc^f H=R)U

°FFf <stHldl %
(B) ^\\wi
(C) 3TT^

(II) di4j*-s fR5T 4oi$?i) % y ^=w ^ Mii$d M^ i4e
(III) fevfff f^tT 7TTT HH5l'=h < rl% HI sftr^fR% ASCII ohTs‘i

if OKCI -} %3 ®RPTI RTI RFR^II

(IV) ^ft'+ild^4l4dl % PdflA 1TRI *&<*^if dlilP-k ^YrTT 1?
dl -d f^ir^ T̂ y4lJl lift '3TR T̂ dPlpji^ :
(1) (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
(2) (A)-(II), (B)-(III), (C)-(TV), PHI)
(3) (A)-(III), (B)-(IV), (C)-(I), (D)-(II)
(4) (A)-(IV), (B)-(I), (C)-(II), (D)-(HI)

(D) 3ff iff 3TR

Options:-

.1, Option ID :- 837,

. 2, Option ID :- 838,

. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 4, Option ID : -840
Subject : RA_Q31-Q35_PGTGEO

Question ID:- 211

Choose the correct alternative that will continue the same pattern and replace the question mark
(?) in the given number series.
6, 24, 60, 120, 210, ?
(1) 330
(2) 336
(3) 366
(4) 396

Rff fadirM ^^RT f^TT TJTT 9R§ r̂f if T̂Rt Til #1WT f R̂? (?) WRif I

6, 24, 60, 120, 210, ?
(1) 330
(2) 336
(3) 366
(4) 396

Options:-

.1, Option ID :- 841,

. 2, Option ID :- 842,

. 3, Option ID :- 843,

. 4, Option ID :- 844,
Answer Given:- 2, Option ID : -842
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Question ID:- 212

 Options:-

.1, Option ID :- 845,

. 2, Option ID :- 846,

. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 4, Option ID : -848

Question ID:- 213

Question ID:- 212

Nine books are kept one over the other. Counting from die bottom, the third and sevendi books
are Text Books. Two books of General Awareness are below a story book. One book on plays is
above the Text Book and anodier book on plays is below the Text Book. One book on poetry is
above the book on plays while die odier book on poetry is below the book on plays. Which book is
fifth from the bottom ?
(1) Poetry Book
(2) Plays Book
(3) Story Book
(4) General Awareness Book

=ft "JR# % R̂ it 11 Tf f*FRt R*PT 3fR flRPfft % I HIHK-i ^f

% #3 % l =fr> fcic1l ^^ -ildcb ^1 4R1=b % RPR t 'Jl^ foh difacll "Efft ^?Rt H,R1=b RR3F

t HMcfl Tft % ?
(1) ctifddl qFl JFfPF
(2) f̂l ^-Kl^
(3) ^W <4>

(4) HHI-d WR

RR3F -̂W =b M % 3?R RTZ3T ^TRt

Options>
.1, Option ID > 845,

. 2, Option ID > 846,

. 3, Option ID > 847,

. 4, Option ID 848,
Answer Given:- 4, Option ID : -848

Question ID:- 213

If 'North-East' is called 'West', 'Soudi-East' is called 'North', 'South-West' is called 'East' and
'North-West' is called 'South'. What will 'East' be called ?
(1) North-West
(2) North-East
(3) South-West
(4) South-East

'dltpil ?
(1) RrR- '-liV-iH
(2)
(3)

(4)
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 Options:-  

.1, Option ID :- 849,  

. 2, Option ID :- 850,  

. 3, Option ID :- 851,  

. 4, Option ID :- 852,  

 Answer Given:- 3, Option ID : -851  
   
   
 Question ID:- 214  

   

 Options:-  

.1, Option ID :- 853,  

. 2, Option ID :- 854,  

. 3, Option ID :- 855,  

. 4, Option ID :- 856,  

 Answer Given:- 3, Option ID : -855  
   
   
 Question ID:- 215  

Options:-

.1, Option ID 849,

. 2, Option ID > 850,

. 3, Option ID 851,

. 4, Option ID 852,
Answer Given:- 3, Option ID : -851

Question ID:- 214

A question is given below followed by two statements numbered I and II each containing some
information. Decide which of the statements are sufficient to answer the question ?
Q. Rohan is in which direction with respect to Pankaj ?
Statement I : Rohan is to the South of Tanya who is to the East of Dolly.
Statement II : Pankaj is to the East of Tanya.
(1) The statement I alone is sufficient to answer the question while the statement II alone is not

sufficient to answer.
(2) The statement II alone is sufficient to answer the question while the statement I alone is not

sufficient to answer.
(3) Both statements I and II together are necessary to answer the question.
(4) Both statements I and II together are not sufficient to answer.

fspn =FSR-I n TUT f % I Tf
cblHjfq WT ^FT

B : ftlR, f̂ T f^n 3t?
I : BFTI % t^ ^^^11
II : Hob's!, dl~HI ^^^11

(1) TPPT-I tt 'qil -diH % Pelt!, HHlHI % 3T%p l ^> ®H-II drK % RlM, MHIHI
t l

(2) F̂PH-II ttTH TiT TTR %fpfp t 'sHP'b 3T%Pl F̂7«H-I WT TTR M^Ski Btf
tl

(3) R̂-I R̂-II,^P?f , TU T̂ PHd=b< WT 3H =)^<H =b 11
(4) «̂H-I 3lfa^8PT-II,^Tff T̂T«r fHvlob< TTR H'-llkl Biff 11

Options:-

.1, Option ID :- 853,

. 2, Option ID :- 854,

. 3, Option ID :- 855,

. 4, Option ID > 856,
Answer Given:- 3, Option ID : -855

Question ID:- 215
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 Options:-  

.1, Option ID :- 857,  

. 2, Option ID :- 858,  

. 3, Option ID :- 859,  

. 4, Option ID :- 860,  

 Answer Given:- 4, Option ID : -860  
   
 Subject : CL_Q36-Q40_PGTGEO  
   
   
 Question ID:- 216  
   

In the following figure, triangle represents men, circle represents post-graduates and square
represents sub-inspectors of police.

16

Which number represents female post - graduates, sub-inspectors of police ?
(1) 5
(2) 8
(3) 9
(4) 12

PinRiRsid <1*11 % TR-sVWd f l

16

# *HOMI nfedl Mldd^di ^f^RT TR-sVt'+i'O <v?lidl 1? ?
(1) 5
(2) 8
(3) 9
(4) 12

Options:-

.1, Option ID :- 857,

. 2, Option ID :- 858,

. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 4, Option ID : -860
Subject : CL_Q36-Q40_PGTGEO

Question ID:- 216

The following is not by default installed with MS Windows.
(1) MS Paint
(2) Notepad
(3) Clock
(4) MS PowerPoint
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 Options:-  

.1, Option ID :- 861,  

. 2, Option ID :- 862,  

. 3, Option ID :- 863,  

. 4, Option ID :- 864,  

 Answer Given:- 1, Option ID : -861  
   
   
 Question ID:- 217  

   

 Options:-  

.1, Option ID :- 865,  

. 2, Option ID :- 866,  

. 3, Option ID :- 867,  

. 4, Option ID :- 868,  

 Answer Given:- 4, Option ID : -868  
   
   
 Question ID:- 218  
   

PinRlHad ^ TJ^FT foil* 3 ( T̂|fe l̂<rd ) Hiff ^tclT f ?
(1)
(2)
(3) dvlT'h
(4)

Options:-

.1, Option ID :- 861,

. 2, Option ID > 862,

. 3, Option ID :- 863,

. 4, Option ID :- 864,
Answer Given:- 1, Option ID : -861

Question ID:- 217

is not a basic function of MS Excel
(1) count()
(2) sum()
(3) max()
(4) additionQ

QH 4V=$H T̂f?t % I

(1) count()
(2) sum()
(3) max()
(4) additionQ

Options:-

.1, Option ID :- 865,

. 2, Option ID > 866,

. 3, Option ID :- 867,

. 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218

Which of the following is true about cell range in MS Excel ?
(1) Collection of chosen cells
(2) Collection of formula
(3) Collection of values
(4) Collection of occupied cells
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 Options:-  

.1, Option ID :- 869,  

. 2, Option ID :- 870,  

. 3, Option ID :- 871,  

. 4, Option ID :- 872,  

 Answer Given:- 3, Option ID : -871  
   
   
 Question ID:- 219  

   

 Options:-  

.1, Option ID :- 873,  

. 2, Option ID :- 874,  

. 3, Option ID :- 875,  

. 4, Option ID :- 876,  

 Answer Given:- 2, Option ID : -874  
   
   
 Question ID:- 220  
   

PinRiRad ^ ij.+4cd ifcl^*1 %^"4 f̂l "t ?
(1) T̂

(2) +l*|yl "+T 4ii6ul

(3) ^̂ [+7 -H-U^'JI

(4) (3H|cf^m^) =FT 4il$ul

Options:-

.1, Option ID :- 869,

. 2, Option ID :- 870,

. 3, Option ID :- 871,

. 4, Option ID :- 872,
Answer Given:- 3, Option ID : -871

Question ID:- 219

Which of the following cannot be reported as Cyber Crime ?
(1) Threatening someone on social media platform
(2) Theft of a brand new hard disk from a showroom
(3) Sharing of pornographic content online
(4) Entering in someone's online bank account and transferring money from there without

his/her consent

PinRlRsld 4’ $ ^l^< 3TTO*I% Îtff d’KI 'MI T̂T R+dl

(1) 4kld Hlfs’MI ^4Mil4 "'TC 1+41 fciH+HI

(2) ^ ^
(3) 31Reflet SIHdl^d V)<R +<dl

(4) f^Rlt fi M̂Pd % f R̂T 3R4> 3tTdcH5d ®f+ 31+|3<d 4' 31%9T =fvRT 3ffc 4̂ £lVl »M '+CTT

t ?

Options:-

.1, Option ID :- 873,

. 2, Option ID :- 874,

. 3, Option ID :- 875,

. 4, Option ID :- 876,
Answer Given:- 2, Option ID : -874

Question ID> 220

What does 's' stand for in https ?
(1) Secure
(2) Security
(3) Stream
(4) Space
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 Options:-  

.1, Option ID :- 877,  

. 2, Option ID :- 878,  

. 3, Option ID :- 879,  

. 4, Option ID :- 880,  

 Answer Given:- 1, Option ID : -877  
   
 Subject : UL_Q41-Q55_PGTGEO  
   
   
 Question ID:- 221  

   

 Options:-  

.1, Option ID :- 881,  

. 2, Option ID :- 882,  

. 3, Option ID :- 883,  

. 4, Option ID :- 884,  

 Answer Given:- 1, Option ID : -881  
   
   
 Question ID:- 222  
   

https3's' ^BT W 3T«f %?
(1) f̂ TR
(2)
(3) Tffa
(4) T^PR

Options:-

.1, Option ID 877,

. 2, Option ID 878,

. 3, Option ID 879,

. 4, Option ID 880,
Answer Given:- 1, Option ID : -877
Subject : UL_Q41-Q55_PGTGEO

Question ID:- 221

The proximodistal principle states that development of the body proceeds from :
(1) head to legs
(2) legs to head
(3) outward to the center of the body
(4) the center of the body outward

(1)
(2) %3 ftrc
(3) imi 3 3TR
(4) wk %WQ ^ ^

Options:-

.1, Option ID :- 881,

. 2, Option ID :- 882,

. 3, Option ID :- 883,

. 4, Option ID :- 884,
Answer Given:- 1, Option ID : -881

Question ID:- 222

Adam's apple is :
(1) an endocrine gland that releases hormones.
(2) the embryonic outgrowth during prenatal stage.
(3) the protruding part of throat of male adolescents.
(4) the protruding part of throat of female adolescents.
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 Options:-  

.1, Option ID :- 885,  

. 2, Option ID :- 886,  

. 3, Option ID :- 887,  

. 4, Option ID :- 888,  

 Answer Given:- 3, Option ID : -887  
   
   
 Question ID:- 223  

   

 Options:-  

.1, Option ID :- 889,  

. 2, Option ID :- 890,  

. 3, Option ID :- 891,  

. 4, Option ID :- 892,  

 Answer Given:- 2, Option ID : -890  
   
   
 Question ID:- 224  
   

tgsnt :

(1) Tffsj ?>FTfa =5T FTfF FFcft f
(2) % k̂n FFFt ^fig

(3) fFT̂ fPf % Fvl F>T sflTF Picbdl I|3T1 'TFT

(4) fasfrfcff % Fvf F)T FT1F fH =be1 l f3F FFT

Options:-

.1, Option ID :- 885,

. 2, Option ID > 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

No one taught a 8 months old child to crawl. But one day, the child started crawling. On the part
of the child, it shows his/her :
(1) growth
(2) development
(3) maturation
(4) morphogenesis

8 Fn? % «tle1<*> F)t knr Fft RH <SIIC1 I % 1 fFTcJ sildctikHT^FF'^cTl 't I ®um <=h 3TP k Ff > /
Fit FFlfaT 1? 1

(1)
(2) Pc|chH

(3) FfFTWT
(4) FTcRT-iFFTRT

Options:-

.1, Option ID :- 889,

. 2, Option ID :- 890,

. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 2, Option ID : -890

Question ID:- 224

Which one of the following is the correct option ?
(1) Development and growth are the process and product of maturity.

(2) Development and maturity are the process and product of growth.

(3) Growth and maturity are the process and product of development.

(4) Progress and maturity are the process and product of development.
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 Options:-  

.1, Option ID :- 893,  

. 2, Option ID :- 894,  

. 3, Option ID :- 895,  

. 4, Option ID :- 896,  

 Answer Given:- 3, Option ID : -895  
   
   
 Question ID:- 225  

   

 Options:-  

.1, Option ID :- 897,  

. 2, Option ID :- 898,  

. 3, Option ID :- 899,  

. 4, Option ID :- 900,  

 Answer Given:- 1, Option ID : -897  
   
   
 Question ID:- 226  
   

RIHRIRSW ^ % ?
(1) r̂ + l'H 3fR ofRg MRM =Wdl TTf yfsivMI sflT 4rHK 11
(2) t̂ TO 3ffc HRH'WCII yfsb<4 i cirHic; f |

(3) ^Rg 3fk MRH^CII ta^ yPsh -MI 3?R 8CHK 11
(4) R̂lfcT 3fR MR^c(c|dl f^RRlTf^ il'lsb^l sfR 8cMI< f I

Options:-

.1, Option ID :- 893,

. 2, Option ID > 894,

. 3, Option ID :- 895,

. 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895

Question ID:- 225

On the part of an individual, the acquisition of values, which the society expects to imbibe and
practice, is known as his/her :
(1) social development
(2) moral development
(3) emotional development
(4) spiritual development

°MRW sift TI gq r̂r, Ri'HdPl
‘RHT 'STTcTT % I

(1) *HHlRl =b Rl^HH

(2) ^ Rl=h Ri=bW

(3) ^|c» dKH =t> faebm
(4) STT^iRndi Ri^m

cT«H 4)^} 3TTW qr ĉTT %, i'Hdil*IHM TUP3!

Options:-

.1, Option ID :- 897,

. 2, Option ID :- 898,

. 3, Option ID :- 899,

. 4, Option ID :- 900,
Answer Given:- 1, Option ID : -897

Question ID> 226

In class VIII Mathematics, the concept 'Simple Interest' is taught first and then the concept
'Compound Interest' is taught. This is in accordance to the :
(1) Cognitive development of the students
(2) Physical development of the students
(3) Social development of the students
(4) Moral development of the students
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 Options:-  

.1, Option ID :- 901,  

. 2, Option ID :- 902,  

. 3, Option ID :- 903,  

. 4, Option ID :- 904,  

 Answer Given:- 1, Option ID : -901  
   
   
 Question ID:- 227  

   

 Options:-  

.1, Option ID :- 905,  

. 2, Option ID :- 906,  

. 3, Option ID :- 907,  

. 4, Option ID :- 908,  

 Answer Given:- 2, Option ID : -906  
   
   
 Question ID:- 228  

F̂T^TT—3TT3 % JlpJ|d Mfri ‘ ®*IR ’ 1<ONI f̂lclT % 3^f R̂ ‘ ^sh^F«S T̂R ’ I % 3FJMTC
t :

(1)

(2) W#' % 5fiKlR=t> fd=bm

(3) fasnfSftf % M \H \U+ f^chifi

(4) twrfsM % ^Rich Pd'+ii'H

Options:-

.1, Option ID :- 901,

. 2, Option ID :- 902,

. 3, Option ID :- 903,

. 4, Option ID :- 904,
Answer Given:- 1, Option ID : -901

Question ID> 227

In human infants, in comparison to total body length the head constitutes :

1m 5
1<2> 3

1
(3) 4

1
(4) 5

TTRcf %3J3Tf yifk eRTf ^c'HI f?R CR MPT|fcrf % :

1
(i) =

1<2> 3

1« 4

1
(4) 5

Options:-

.1, Option ID :- 905,

. 2, Option ID :- 906,

. 3, Option ID :- 907,

. 4, Option ID > 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228
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 Options:-  

.1, Option ID :- 909,  

. 2, Option ID :- 910,  

. 3, Option ID :- 911,  

. 4, Option ID :- 912,  

 Answer Given:- 1, Option ID : -909  
   
   
 Question ID:- 229  

   

 Options:-  

.1, Option ID :- 913,  

. 2, Option ID :- 914,  

. 3, Option ID :- 915,  

. 4, Option ID :- 916,  

 Answer Given:- 4, Option ID : -916  
   
   
 Question ID:- 230  

The infants show general excitement to strong stimulation. This is the sign of their :
(1) metacognitive skills
(2) cognitive growth
(3) emotional behaviour
(4) socialization

sTSfl -dtie'll f^UciT % l^'3 1̂%
(1) ( "RST =hl ^lc1

(2) WRTc*T3i

(3) ’HlcMIcH'*!
(4) *1IHMl =h< ul

% l

Options:-

.1, Option ID 909,

. 2, Option I D 9 1 0,

. 3, Option ID 911,

. 4, Option ID 912,
Answer Given:- 1, Option ID : -909

Question ID:- 229

With respect to adolescents, which one of the following is a correct statement ?
(1) Their spiritual development is more visible than physical development.
(2) Their cognitive development is more visible than physical development.
(3) Their cognitive development is more visible than social development.
(4) Their physical development is more visible than cognitive development.

PinRiRsici 3^ TTT Tilt t?
(1) t'lltfR -* =Ft 33̂ T SflWIlfcHeb RW> W ^cTT % I

(2) ^n<lRcb ^ 3H =bi WHICR̂ f<<sii 4 11
(3) «HIHlRl =b FdcbKH (q<gi^ ^cTT % I

(4) <HVHlcH =h ^3T̂ ta-n '3T̂ T ^ll -ORcb fc;<al^ ^cTI 11
Options:-

.1, Option ID :- 913,

. 2, Option ID :- 914,

. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 4, Option ID : -916

Question ID:- 230

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 917,  

. 2, Option ID :- 918,  

. 3, Option ID :- 919,  

. 4, Option ID :- 920,  

 Answer Given:- 1, Option ID : -917  
   
   
 Question ID:- 231  

   

 Options:-  

.1, Option ID :- 921,  

. 2, Option ID :- 922,  

In case of adolescents, the inter personal and intra personal growth patterns show their :
(1) cognitive development and social development respectively.
(2) moral development and social development respectively.
(3) emotional development and moral development respectively.
(4) social development and cognitive development respectively.

rWiViH'f % HlMd 3, 3TfR-o^r«Web 3fa 3T c T T l- y f d H M 33%
(1) ShH^ I: 3:?iMlcH3) f3=bl3 33T f3333

(2) 33T?T: ^fd3> 13333 33f 3lHlf33> f3333

(3) sbH^ I: 3l <=iPl3i [33)13 cfSTT ^ Rl=h [33> I3

(4) sbHrfl: TITHlfjM 1333M 33T 3:?lHlcH3> [33)13

%t 3?ltcIT H I

Options:-

.1, Option ID 917,

. 2, Option I D 9 1 8,

. 3, Option ID 919,

. 4, Option ID 920,
Answer Given:- 1, Option ID : -917

Question ID:- 231

In language class of adolescent students the teacher uses an English idiom 'A Leopard can't change
his spots' which means 'a person cannot change his/her basic nature'. The teacher thinks that :
(1) Students cannot understand it as adolescence is a stage where only concrete thinking

dominates.
(2) Students may imagine the impossible as they have developed abstract thinking so they can

understand it.
(3) Students may understand it as they can use symbolic thinking to derive its meaning.
(4) Students cannot understand it as their critical thinking proves that in reality the idiom and

it's meaning don't synchronize.

%t MM %t =F8JT 3 31̂ 3143) % ysi'A 'A Leopard can't change his spot' 33 31313
3)<dl % fSRMT 3T«1 % 1% 4 o%%T 333% tjyf 4=j)[d %t 33ef 3333 %’ I 3TE3TW 3t? 7%33T t f% :

(1) f3UT«Tf MTCrif f%#33*31%ETl 3T3T3T % "STirf %3?T TJcf f%cR

(2) f3HT3f 3RTM3 %t 3) <r4dl 33

TRel 6)dl % l

% 33ff%‘33*1 3PJjf f%T3 f33)1%3^33T t 53fVti< % 1$TRft
tl

(3) fefTMf^TRfT t 3%f% 3 f333 3T?[ Pl=hld^ % 4dl=hlcH<=h f%R 33 3313 33 M3% f I

(4) f3UT3f 3H$i 33) cl % 33lT3) 3d3) I 3TI%f33T3M f3?R 3?"f%g 333T t f% 33313333 3%
533)1 37sf 333) fM3> *16) tl I

Options:-

.1, Option ID :- 921,

. 2, Option ID :- 922,
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. 3, Option ID :- 923,  

. 4, Option ID :- 924,  

 Answer Given:- 2, Option ID : -922  
   
   
 Question ID:- 232  

   

 Options:-  

.1, Option ID :- 925,  

. 2, Option ID :- 926,  

. 3, Option ID :- 927,  

. 4, Option ID :- 928,  

 Answer Given:- 4, Option ID : -928  
   
   
 Question ID:- 233  

   

 Options:-  

.1, Option ID :- 929,  

. 2, Option ID :- 930,  

. 3, Option ID :- 931,  

. 4, Option ID :- 932,  

 Answer Given:- 1, Option ID : -929  

.3,Option ID > 923,

.4, Option ID 924,
Answer Given:- 2, Option ID: -922

Question ID:- 232

The term 'society' is rooted in the word 'societas' which is a/an :
(1) African word
(2) Chineese word
(3) Greek word
(4) Latin word

(1) 3lfent
(2) feft
(3)

(4)

tl

Options:-
.1, Option ID :- 925,
.2, Option ID:- 926,
.3,Option ID :- 927,
.4, Option ID:- 928,
Answer Given:- 4, Option ID: -928

Question ID:- 233

Who defined the word 'community' as a group established by men having shared values ?
(1) Comte
(2) Marx
(3) Aristotle
(4) Durkheim

fe^ ‘ TJynf 'fef £RT wfe TnpT’% 3nfinTfe fen?
(1) ct>IHc.

(2) life
(3) 31^(4) l^ffe

Options:-
.1, Option ID :- 929,
.2, Option ID:- 930,
.3,Option ID :- 931,
.4, Option ID:- 932,
Answer Given:- 1,Option ID : -929
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 Question ID:- 234  

   

 Options:-  

.1, Option ID :- 933,  

. 2, Option ID :- 934,  

. 3, Option ID :- 935,  

. 4, Option ID :- 936,  

 Answer Given:- 2, Option ID : -934  
   
   
 Question ID:- 235  

   

 Options:-  

.1, Option ID :- 937,  

. 2, Option ID :- 938,  

. 3, Option ID :- 939,  

. 4, Option ID :- 940,  

 Answer Given:- 2, Option ID : -938  
   
 Subject : UTL_Q56-Q70_PGTGEO  
   
   

Question ID:- 234

In the context of socialization, which one of the following is the most appropriately correct
statement ?
(1) In some cultures, secondary socialization may precede primary socialization.
(2) Primary socialization and secondary socialization run parallel to each other.
(3) Secondary socialization takes place only after primary socialization.
(4) Primary socialization and secondary socialization follow an entirely different trajectory.

TllHMl=b<ul % if, PlHftnftad if ^ TIT TT?t H?
(1) ^> *5 TTJiRl'MT if, HIHMldH'JI ^ 3TRTT % I

(2) YI T̂fP̂ T THMNl =h <ul fgdl^di TTTPRfavC0! TJcfT %
(3) isdl 'H'ti iqel 3lT*irM=h *UHI*fl°h<ul $jdl 1? I

f ITFTPTRR

F̂T TTpJTRTT cb<cl tf I(4)

Options:-

.1, Option ID :- 933,

. 2, Option ID :- 934,

. 3, Option ID :- 935,

. 4, Option ID :- 936,
Answer Given:- 2, Option ID : -934

Question ID> 235

The adverse situations like COVID-19 pandemic have led to the :
(1) increase in enrolment in formal education.
(2) increase in home schooling.
(3) decrease in enrolment in non-formal education.
(4) increase in brain drain.

difas-19 MPd^d fPlfd % =hKul

(1) f?T$lT if dlHbM if ejfe I

(2) ^RifW^ l̂T if f̂ef ^ l

(3) î'-l'h-dlRch f?[§TT if dlHIdi'l if pKlcli 3TH? I

(4) YRM MdNH if |rf I

:

Options:-

.1, Option ID :- 937,

. 2, Option ID :- 938,

. 3, Option ID :- 939,

. 4, Option ID :- 940,
Answer Given:- 2, Option ID : -938
Subject : UTL_Q56-Q70_PGTGEO

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Question ID:- 236  

   

 Options:-  

.1, Option ID :- 941,  

. 2, Option ID :- 942,  

. 3, Option ID :- 943,  

. 4, Option ID :- 944,  

 Answer Given:- 4, Option ID : -944  
   
   
 Question ID:- 237  

   

 Options:-  

.1, Option ID :- 945,  

. 2, Option ID :- 946,  

. 3, Option ID :- 947,  

. 4, Option ID :- 948,  

 Answer Given:- 3, Option ID : -947  
   
   
 Question ID:- 238  

Question ID:- 236

Why is curriculum important for the teachers ?
(1) Establishes responsibilities and accountability
(2) Acts as a control device
(3) Develops understanding about preservation of environment
(4) Indicates how the external sources should be utilized for the benefits of the students

Hlchlddl % %IT % ?
(1) ^ 3^R wfad <Md1 % I

(2) [ >̂1 TW1!% "*¥ T̂rft 1? 1

(3) IPTfl fa =bRHd 11
(4) ‘ffacT T̂cTT %% f^RT y4lJl % cTT̂ f % fait f̂ JT WHT I

Options:-

.1, Option ID :- 941,

. 2, Option ID :- 942,

. 3, Option ID :- 943,

. 4, Option ID :- 944,
Answer Given:- 4, Option ID : -944

Question ID:- 237

Which one of the following may not be an important principle of curriculum organisation ?
(1) Principle of child centeredness
(2) Principle of creativity
(3) Principle of self learning
(4) Principle of flexibility

*¥ ^ TIT Mld̂ M'-ll Rlfil-d îff t ?
(1) F̂T fVlfil'd
(2) ^dld-ididl Rlfil'd
(3) ^>T fflfil'd
(4) cddlvHMd Rlfil'd

Options:-

.1, Option ID :- 945,

. 2, Option ID :- 946,

. 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 3, Option ID : -947

Question ID:- 238
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 Options:-  

.1, Option ID :- 949,  

. 2, Option ID :- 950,  

. 3, Option ID :- 951,  

. 4, Option ID :- 952,  

 Answer Given:- 3, Option ID : -951  
   
   
 Question ID:- 239  

   

 Options:-  

.1, Option ID :- 953,  

. 2, Option ID :- 954,  

. 3, Option ID :- 955,  

. 4, Option ID :- 956,  

 Answer Given:- 2, Option ID : -954  
   
   
 Question ID:- 240  

Which one of the following is not an element of experiential learning cycle ?
(1) Concrete experience
(2) Reflective observation
(3) Critical analysis
(4) Active experimentation

PlHfelRsId 3 WT 3*3*1clinch 3*f?PTR Îsfi R>T 3FT Riff %?
(1) WIST 3T3*PT

(2) PdH^'+i 3*cfd1cti'i

(3)
(4) fWfTcRRT WPT

Options:-

.1, Option ID 949,

. 2, Option ID > 950,

. 3, Option ID 951,

. 4, Option ID > 952,
Answer Given:- 3, Option ID : -951

Question ID:- 239

Which one of the following may not be accomplished by students through 'self assessment7 ?
(1) Reflection on their own learning
(2) Consolidation of their learning through dialogue
(3) Skills in meta cognition
(4) Identification of the areas of their strength and of those need improvement

WRf 'gRI 3* ict-icH ’ RRT Pl^Hlfcd Riff fRTRI R1T % ?
(1) RRR % SrfiPTR R* Spjf f̂dR
(2) TRR % RRRR if 3TR f̂ 3TfRRR Rqfdcl RRRT

(3) RR-WTR ( Adl-'hlRpHfld ) *¥
(4) 3Wi Wei RST RTrf RFRTR 3TR R|T $R PJH4 ipiR STTRWRKTI %

Options:-

.1, Option ID :- 953,

. 2, Option ID :- 954,

. 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 2, Option ID : -954

Question ID:- 240
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 Options:-  

.1, Option ID :- 957,  

. 2, Option ID :- 958,  

. 3, Option ID :- 959,  

. 4, Option ID :- 960,  

 Answer Given:- 3, Option ID : -959  
   
   
 Question ID:- 241  

   

 Options:-  

.1, Option ID :- 961,  

. 2, Option ID :- 962,  

. 3, Option ID :- 963,  

. 4, Option ID :- 964,  

 Answer Given:- 1, Option ID : -961  
   
   
 Question ID:- 242  

Which one of the following is not an advantage of using textbook in classroom teaching learning
process ?
(1) A useful teaching aid in the hands of a teachers
(2) Encourages convergent thinking among learners through its chapters and exercises
(3) Provides guidelines for students evaluation
(4) Help teachers to maintain logical reference of content matter

yfsfvMI if xfT35I-^=h IPTR ^W ^H?
(1) 37«TTW if VTW|414> HIHiTl
(2) % 3}KfFTf 3fR F̂f-3T«TRT % PTWT if 3Tfq'iH=t> Tlf3Tf if Sff̂ RTKT fWcR ®l <oMl ^cff t
(3) %%o; pri-PPM w T̂rff t
(4) 3P̂ IH =h % dlP=U if *-i$ l'-1dl <*> <d) %

Options:-

.1, Option ID 957,

. 2, Option ID > 958,

. 3, Option ID 959,

. 4, Option ID > 960,
Answer Given:- 3, Option ID : -959

Question ID:- 241

Which one of the following may not be considered as a main characteristic of multimedia system?
(1) Social loafing
(2) Can be used as an interactive device
(3) Requires judiciously planned usage
(4) Sharpens skills in problem solving and decision making areas

PinRlRad 33 f̂f PMldl^PFTT 5̂TT ^<*>dl % ?
(1)
(2) HK-Plftdi %*TI <5Md)

'<uI 3 R̂Pf fepff T̂T 7T3KTT t
(3) *̂1% 8H 41* I % fefii; ^FSRT T̂Ft 3ft 5M|cj^i( chdl iftcft %
(4) ’HH'HII-TFfmH 3fR PM-4 ftft ftftf ft dif ^M 3ft ftsf =RrfT %

Options:-

.1, Option ID :- 961,

. 2, Option ID :- 962,

. 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 1, Option ID : -961

Question ID:- 242
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 Options:-  

.1, Option ID :- 965,  

. 2, Option ID :- 966,  

. 3, Option ID :- 967,  

. 4, Option ID :- 968,  

 Answer Given:- 3, Option ID : -967  
   
   
 Question ID:- 243  

   

 Options:-  

.1, Option ID :- 969,  

. 2, Option ID :- 970,  

. 3, Option ID :- 971,  

. 4, Option ID :- 972,  

 Answer Given:- 2, Option ID : -970  
   
   
 Question ID:- 244  

Which of the following is an incorrect statement ?
(1) Extended response type item is an essay type item.
(2) In multiple choice item the incorrect option are known as distracters.
(3) Objective type of item are more preferable in measuring the creative ability of students.
(4) Matching type of item is a form of multiple choice type.

PinfeiRsid 3 R t ?
(1) fq d̂lRd MfdPdvHltHd)

"5TH RR^IcHd> UTd ftdT “t I

(2) TTFT 7Teirf PddiWi T̂T RT RvfT *1RT *TTdT 't I

(3) cl 'klTi d̂ 'Jf̂ T ‘^TtRcTT^ dplddl^ f I

(4) PddH °TR^ 3TH d^fddiedl ISR^R % TTRt °FI 11
Options:-

.1, Option ID 965,

. 2, Option ID 966,

. 3, Option ID 967,

. 4, Option ID > 968,
Answer Given:- 3, Option ID : -967

Question ID:- 243

Which of the following is not a difficulty associated with group learning ?
(1) Absence systematic approach to work
(2) Easy identification and correction of errors
(3) Lack of adequate coordination among participants
(4) Pressures on individual learners to conform on the issue having discussed in the group

PdHPdRsId $ W RJi? 3lfWT^ =hPcHl^ Rpf f ?
(1) % 'Srfo oqcjRsM <SMHH^3HjHp**rfd
(2) JMfd4f 3TPRH H$dld

(3) yfd^lPldl % did Hdim RH-dd 'dTi

(4) RJf 3 fd>^ dPd fddd % <=dPddJld 3tfi|dHd)dl3Tf tR cfdTd

Options:-

.1, Option ID :- 969,

. 2, Option ID :- 970,

. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 2, Option ID : -970

Question ID:- 244
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 Options:-  

.1, Option ID :- 973,  

. 2, Option ID :- 974,  

. 3, Option ID :- 975,  

. 4, Option ID :- 976,  

 Answer Given:- 2, Option ID : -974  
   
   
 Question ID:- 245  

   

 Options:-  

.1, Option ID :- 977,  

. 2, Option ID :- 978,  

. 3, Option ID :- 979,  

. 4, Option ID :- 980,  

 Answer Given:- 3, Option ID : -979  
   
   
 Question ID:- 246  

Which one is not a role of the teachers in construction of knowledge of students ?
(1) Allowing students to ask questions and encouraging them to raise intelligent questions
(2) Discouraging self analysis and self assessment
(3) Fostering reflective practice
(4) Supporting cooperative and collaborative learning in the classroom

fWlfsM % ?TR ul 3 Fit ?
(1) Wi "'JyR 3H jnPd ^TT 3pfc "3^ UTO ylc^l^d TORT

(2) F3-f <=R<r) qU| Sd'lc'tflfed TÔ TT

(3) fTOR qPl y|rolled r̂HI

(4) TOJT *¥ FT t̂Fft cM 3#RF[ FffPTcfT^IT

Options:-

.1, Option ID 973,

. 2, Option ID 974,

. 3, Option ID 975,

. 4, Option ID > 976,
Answer Given:- 2, Option ID : -974

Question ID:- 245

'Learner centered approach' is not characterized by :
(1) Learning by doing
(2) Both individual and group learning
(3) Learning and memorization of textual questions
(4) Democratic classroom environments

* STfMMHdidf =Pps;d 3MHIH ’^ fTOTW % :

(1) *Pl <sMI

(2) <>4P=tdJid aftt ^Frf TO: TO sifwi
(3) ^ylHId *4 TO STftPTB cT^Tl "3% dPdW =b<dl

(4) TOJT TO «rii=hdip5l=h dldlcKul

Options:-

.1, Option ID :- 977,

. 2, Option ID :- 978,

. 3, Option ID :- 979,

. 4, Option ID :- 980,
Answer Given:- 3, Option ID : -979

Question ID:- 246
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 Options:-

.1, Option ID :- 981,

. 2, Option ID :- 982,

. 3, Option ID :- 983,

. 4, Option ID :- 984,
Answer Given:- 2, Option ID : -982

Question ID:- 247

In a teaching learning situation four stages are being followed :
1. Identification of problems
2. Experimentation and observation
3. Problem solving
4. Evaluation
Which of the following method is being applied ?
(1) Project Method
(2) Problem solving Method
(3) Discovery Method
(4) Inductive Method

fWTf-3Tfwr R^fd 3 •cp'Jll HKrH 5̂TT T^T % :

1.

2. RfRp1! sffc
3. TFPTFf

4.

PinfclRsIcl 3^ # feRl T̂T ifl t?
(1) Rrfa
(2) 'HHWI-RPPIH farfa
(3) fafa
(4) 3HMIH'1ICH =h fSfRl

Options:-

.1, Option ID 981,

. 2, Option ID > 982,

. 3, Option ID 983,

. 4, Option ID > 984,
Answer Given:- 2, Option ID : -982

Question ID:- 247

Which of the following is not a strength of portfolio ?
(1) Development of skill among students in evaluating the strength and weakness of their own

work
(2) Creates opportunity to collaborate and reflect on students progress.

(3) Parents have rare opportunity to assess the performance of their children .

(4) Helps students to take responsibility for setting goals and evaluating their progress
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 Options:-  

.1, Option ID :- 985,  

. 2, Option ID :- 986,  

. 3, Option ID :- 987,  

. 4, Option ID :- 988,  

 Answer Given:- 2, Option ID : -986  
   
   
 Question ID:- 248  

   

 Options:-  

.1, Option ID :- 989,  

. 2, Option ID :- 990,  

. 3, Option ID :- 991,  

. 4, Option ID :- 992,  

 Answer Given:- 2, Option ID : -990  
   
   
 Question ID:- 249  
   

PinRlRsld *¥ Ft R?FT RRcR RS-f Riff t ?
(1) WRt 3 3TRH RRR % R3J TT8TT cb'H'sftR T̂ T̂ ‘jeRKM RRR % di^ld RiT fRRTRT
(2) WRlf’TrfT RR̂ i RTT 3TRFR RRRT cfRT WRt^M^T RF RRHT

(3) 3?fM^|c|ehf 3RFf ®raf % RR^d CRT 3n|cheH RR ®f^cT RRT 3FRFR pHelcll %
(4) FJTRt Rif FrI$R f^Rffer RR̂ f rfRi SRFTt RRfcI RiT *^i=hd RR^ R?f ^ RgWdl RRcTT t

Options:-

.1, Option ID :- 985,

. 2, Option ID :- 986,

. 3, Option ID :- 987,

. 4, Option ID > 988,
Answer Given:- 2, Option ID : -986

Question ID:- 248

Role of teacher in 'trans disciplinary integration' is that of a :
(1) Co-leamer
(2) Facilitator
(3) Specialist
(4) Generalist

‘ RTI-fW-fi Rit \fH =hl

(1) 7^-37^'IHdvdf
(2) HR<RK

(3)
(4) FilHKhl ('^RRlfeRS)

ept % l

Options:-

.1, Option ID :- 989,

. 2, Option ID :- 990,

. 3, Option ID :- 991,

. 4, Option ID > 992,
Answer Given:- 2, Option ID : -990

Question ID:- 249

What should be the basic determinant of a good classroom discussion ?
(1) Skill of the teacher's
(2) Teacher's mastery our the topic
(3) Content being discussed
(4) Unity of purpose and interest in the class
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 Options:-  

.1, Option ID :- 993,  

. 2, Option ID :- 994,  

. 3, Option ID :- 995,  

. 4, Option ID :- 996,  

 Answer Given:- 4, Option ID : -996  
   
   
 Question ID:- 250  

   

 Options:-  

.1, Option ID :- 997,  

. 2, Option ID :- 998,  

. 3, Option ID :- 999,  

. 4, Option ID :- 1000,  

 Answer Given:- 4, Option ID : -1000  
   
 Subject : CCLE SOL PE_Q71-Q80_PGTGEO  
   
   
 Question ID:- 251  
   

(1) SfUiiHcb ^Ivl

(2) faq -M TR 3^̂ MIH =b RR 3rfR=FR

(3) fRRR-RRJ, f^RT TR ^ETEff ^ R|ft t
(4) U4!*H RR y,=h <̂ i afk R 3#RfR

Options:-

.1, Option ID :- 993,

. 2, Option ID :- 994,

. 3, Option ID :- 995,

. 4, Option ID > 996,
Answer Given:- 4, Option ID : -996

Question ID:- 250

Objectives of education are not helpful in :
(1) Understanding child development
(2) Selecting instructional materials
(3) Designing learning experience
(4) Preparing evaluation tools

ftrsn % i?lR 1? I

(1) ®llel=b RR fa=bl*l RRfU R
(2) RIHifl RR 'RRR

(3) SffsRTR RT^RR RTj <^<91 RRK RRR R"

(4) 'tJyRTRH '3RRRW rPTR RR^ R

RR^ R

Options:-

.1, Option ID :- 997,

. 2, Option ID :- 998,

. 3, Option ID :- 999,

. 4, Option ID :- 1000,
Answer Given:- 4, Option ID : -1000
Subject : COLE SOL PE_Q71-Q80_PGTGEO

Question ID:- 251

In modem context the best mental health of students and teachers can be ensured by :
(1) Yogasana and Pranayam
(2) Physiotheraphy
(3) Mathematical and mental exercises
(4) Organizing social gatherings

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1001,  

. 2, Option ID :- 1002,  

. 3, Option ID :- 1003,  

. 4, Option ID :- 1004,  

 Answer Given:- 1, Option ID : -1001  
   
   
 Question ID:- 252  

   

 Options:-  

.1, Option ID :- 1005,  

. 2, Option ID :- 1006,  

. 3, Option ID :- 1007,  

. 4, Option ID :- 1008,  

 Answer Given:- 1, Option ID : -1005  
   
   
 Question ID:- 253  
   

(1)

(2)

(3) T

(4) T

Options:-

.1, Option ID :- 1001,

. 2, Option ID :- 1002,

. 3, Option ID > 1003,

. 4, Option ID 1004,
Answer Given:- 1, Option ID : -1001

Question ID:- 252

The right of persons with disability Act came in which year ?
(1) 2014
(2) 2016
(3) 2018
(4) 2020

(1) 2014
(2) 2016
(3) 2018
(4) 2020

Options:-

.1, Option ID :- 1005,

. 2, Option ID :- 1006,

. 3, Option ID :- 1007,

. 4, Option ID :- 1008,
Answer Given:- 1, Option ID : -1005

Question ID:- 253

In terms of education progress which one of the following groups is the largest ?
(1) Tribals
(2) Schedule castes
(3) Slum dwellers
(4) Girls

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1009,  

. 2, Option ID :- 1010,  

. 3, Option ID :- 1011,  

. 4, Option ID :- 1012,  

 Answer Given:- 4, Option ID : -1012  
   
   
 Question ID:- 254  

   

 Options:-  

.1, Option ID :- 1013,  

. 2, Option ID :- 1014,  

. 3, Option ID :- 1015,  

. 4, Option ID :- 1016,  

 Answer Given:- 2, Option ID : -1014  
   
   
 Question ID:- 255  
   

f?r$rr i-HiPd % PIR 3^ r̂*ji? °< -si i? ?
(1) 3^ft=U*0
(2) SH^Pdd l̂lfd
(3) ^pft PRI-HI
(4) «* lftl <*> l £(

Options:-

.1, Option ID :- 1009,

. 2, Option ID :- 1010,

. 3, Option ID :- 1011,

. 4, Option ID > 1012,
Answer Given:- 4, Option ID : -1012

Question ID:- 254

Which one of the following can be easily handled by school teachers ?
(1) Autistic child
(2) A child with an IQ of 72
(3) A child with dyscalculia
(4) A psychotic child

1RR 3^ T3^>, gRl 3TRTpft TrfalvII T̂T TRFRT % ?
(1) ^Rlcdh <=Hd =h
(2) ^72 3T̂ (IQ) T̂eTT «llet=b

(3) Psfl T̂efl TRi ®ncd =b
(4) 'Q^T ^MT

Options:-

.1, Option ID :- 1013,

. 2, Option ID :- 1014,

. 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- 2, Option ID : -1014

Question ID:- 255

Among the following options, which one is easier for a school seeking partnership ?
(1) Neighboring schools
(2) Industry
(3) Parents and community
(4) Adjoining government offices

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1017,  

. 2, Option ID :- 1018,  

. 3, Option ID :- 1019,  

. 4, Option ID :- 1020,  

 Answer Given:- 3, Option ID : -1019  
   
   
 Question ID:- 256  

   

 Options:-  

.1, Option ID :- 1021,  

. 2, Option ID :- 1022,  

. 3, Option ID :- 1023,  

. 4, Option ID :- 1024,  

 Answer Given:- 1, Option ID : -1021  
   
   
 Question ID:- 257  
   

^ =̂ T-'?n f̂ j^T 3TRTFT H ?
(1) trfrcft
(2) ^T

(3) 3rf*r*fTan̂ T^'

(4) PlcbioidT <rl<=r> l < l F̂rfcR

Options:-

.1, Option ID :- 1017,

. 2, Option ID :- 1018,

. 3, Option ID :- 1019,

. 4, Option ID :- 1020,
Answer Given:- 3, Option ID : -1019

Question ID:- 256

Higher education institutions can develop the best partnership with schools by
(1) training school teachers.
(2) organizing competency based activities for school teachers.
(3) sharing their physical and human resources.
(4) selecting best students from schools and giving them advanced learning material.

fw TrTWR, ®b< % ?
(1) 3ifcqiH =bf ^Ft yfcnm

(2) •SP̂ IH '+T ^RTT SIMftcT 3 F̂Ttf T̂cT

(3) STOrf 3?K HN^ch TTCTPH 1TT?TT

(4) PfjcT ^ SfftpFf -HIHiTl

Options:-

.1, Option ID :- 1021,

. 2, Option ID :- 1022,

. 3, Option ID :- 1023,

. 4, Option ID > 1024,
Answer Given:- ] , Option ID : -1021

Question ID> 257

Which one of the following can best develop the spirit of enquiry and awareness among learners at
secondary school level ?
(1) Parent teacher associations
(2) In service programmes for teachers
(3) Hobby clubs
(4) Long duration science experiments

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1025,  

. 2, Option ID :- 1026,  

. 3, Option ID :- 1027,  

. 4, Option ID :- 1028,  

 Answer Given:- 1, Option ID : -1025  
   
   
 Question ID:- 258  

   

 Options:-  

.1, Option ID :- 1029,  

. 2, Option ID :- 1030,  

. 3, Option ID :- 1031,  

. 4, Option ID :- 1032,  

FUF UF 3#) MH=hdl3Tf i? HR'^I TR '3ll < l <>=hdl ât *fRUT "URf %cj RFT P" Fl ^R Fr4?p3% ?
(l) 3#rm̂ f?i§R> FTRTRPTT
(2) i?I8iRTf FR[ <+, 1eftd chi4shH

(3) 3#TFRl UFR

(4) vP-4) 3RRT % fsRH % TTUpT

Options:-

.1, Option ID :- 1025,

. 2, Option ID :- 1026,

. 3, Option ID :- 1027,

. 4, Option ID :- 1028,
Answer Given:- 1, Option ID : -1025

Question ID:- 258

Which one of the followingcombination can best fulfill the objectives of conductingschool assembly?
(i) Punishing naughty students
(ii) Everyday reading some part of a classic book
(iii) Physical Fitness exercises
(iv) Sharing decisions of PTA meetings
(v) Addressing general issues of the school

(1) (ii), (iii) and (v)
(2) (i), (iii) and (v)
(3) (i), (ii) and (iii)
(4) (ii), (iii) and (iv)

W: FPU ^ % 6^4) ^ i f RFT P F)^Pl-FU FT^̂ Ri^PTT ?
(i) FKKdl
(ii) RbFlt VllFdt -M ( =fdlR-l =bd ) 'JFcRT %^5 3RT WH

(iii) ^llftRdi oURTP

(iv) 3#tUR^7 f?T§Ra % Rpfci FflfTT URUT

(v) F^iFT % FTFTFU Tp(t UF 4lddl

(1) (ii), (iii)*(v)
(2) (x), (iii) (v)
(3) (i), (ii) ate (iii)
(4) (U), (iii) ate (iv)

Options:-

.1, Option ID :- 1029,

. 2, Option ID :- 1030,

. 3, Option ID :- 1031,

. 4, Option ID :- 1032,

https://applink.adda247.com/d/XhqWf9lSap
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 Answer Given:- 1, Option ID : -1029  
   
   
 Question ID:- 259  

   

 Options:-  

.1, Option ID :- 1033,  

. 2, Option ID :- 1034,  

. 3, Option ID :- 1035,  

. 4, Option ID :- 1036,  

 Answer Given:- 3, Option ID : -1035  
   
   
 Question ID:- 260  

   

 Options:-  

.1, Option ID :- 1037,  

. 2, Option ID :- 1038,  

. 3, Option ID :- 1039,  

. 4, Option ID :- 1040,  

 Answer Given:- 1, Option ID : -1037  
   
 Subject : GEO_Q81-Q180_PGTGEO  
   
   

Answer Given:- 1, Option ID : -1029

Question ID> 259

Which Committee talked of education for humane and enlightened society ?
(1) Raghu Rajan Committee
(2) Acharya Ram Murti Committee
(3) Yashpal Commitee
(4) Acharya Narendra Dev Committee

HM4)R 3^ UTcT ^fnfcl % ?
(1) =b4d)

(2) 3H|-c||4 UR =bAdl
(3) W7M 4)Adi
(4) 37TUT4 ^ +Adl

Options:-

.1, Option ID :- 1033,

. 2, Option ID :- 1034,

. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 3, Option ID : -1035

Question ID:- 260

Which one of the following does not belong to knowledge domain ?
(1) Respecting
(2) Analysing
(3) Evaluating
(4) Informing

fFT 33#3 Q'hUR 3 UUfacT t ?
(1) 3TRJ3 cbtHI

(2) UvCfT

(3) tJcUTcBR =h<Hl

(4) <^yni

Options:-

.1, Option ID :- 1037,

. 2, Option ID :- 1038,

. 3, Option ID :- 1039,

. 4, Option ID :- 1040,
Answer Given:- 1, Option ID : -1037
Subject : GEO_Q81-Q180_PGTGEO

https://applink.adda247.com/d/XhqWf9lSap
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Question ID:- 261

 Options:-

.1, Option ID :- 1041,

. 2, Option ID :- 1042,

. 3, Option ID :- 1043,

. 4, Option ID :- 1044,
Answer Given:- 4, Option ID : -1044

Question ID:- 262

 Options:-

.1, Option ID :- 1045,

. 2, Option ID :- 1046,

. 3, Option ID :- 1047,

. 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263

Question ID:- 261

Eratosthenese,coining the term geography for the first time,belongs to which one of the following
groups of scholar ?
(1) Arab Scholar
(2) French Scholar
(3) Roman Scholar
(4) Greek Scholar

(1) fergH

(2) fa&H

(3) TFET feign

(4) fash

Options:-

.1, Option ID :- 1041,

. 2, Option ID :- 1042,

. 3, Option ID :- 1043,

. 4, Option ID :- 1044,
Answer Given:- 4, Option ID : -1044

Question ID:- 262

Which one of the following disciplines has interface with Geographical thoughts ?
(1) Anthropology
(2) Economics
(3) Philosophy
(4) Sociology

SfcRPpj ( interface) f f̂cR %> EiT^ t ?IT

(1)

(2)

(3)
(4)

Options:-

.1, Option ID :- 1045,

. 2, Option ID :- 1046,

. 3, Option ID :- 1047,

. 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1049,  

. 2, Option ID :- 1050,  

. 3, Option ID :- 1051,  

. 4, Option ID :- 1052,  

 Answer Given:- 2, Option ID : -1050  
   
   
 Question ID:- 264  

   

 Options:-  

.1, Option ID :- 1053,  

. 2, Option ID :- 1054,  

. 3, Option ID :- 1055,  

. 4, Option ID :- 1056,  

 Answer Given:- 3, Option ID : -1055  
   
   
 Question ID:- 265  

In which one of the following Epochs, modem man appeared on the earth ?
(1) Holocene
(2) Pleistocene
(3) Pliocene
(4) Miocene

(1) srfVre
(2) *JdH
(3) 37fcT ^cH

(4) SPr’PjcR

Options:-

.1, Option ID 1049,

. 2, Option ID 1050,

. 3, Option ID 1051,

. 4, Option ID > 1052,
Answer Given:- 2, Option ID : -1050

Question ID> 264

Which one of the earth's layers is in liquid state ?
(1) Crust
(2) Outer core
(3) Inner core
(4) Upper most mantle

(i)
(2) 3hT5

(3) 3HmR=ti

(4) Red

Options:-

.1, Option ID :- 1053,

. 2, Option ID :- 1054,

. 3, Option ID :- 1055,

. 4, Option ID :- 1056,
Answer Given:- 3, Option ID : -1055

Question ID:- 265

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1057,  

. 2, Option ID :- 1058,  

. 3, Option ID :- 1059,  

. 4, Option ID :- 1060,  

 Answer Given:- 3, Option ID : -1059  
   
   
 Question ID:- 266  

   

 Options:-  

.1, Option ID :- 1061,  

. 2, Option ID :- 1062,  

. 3, Option ID :- 1063,  

. 4, Option ID :- 1064,  

 Answer Given:- 4, Option ID : -1064  
   
   
 Question ID:- 267  

A large body of magmatic material cools in the deeper depth of the crust forming large dome is
termed by which one of the followings ?
(1) Caldera
(2) Sills
(3) Batholith
(4) Dyke

fair ^y4<d1 if 3#-T37 if HST iffap GTSI ®H?IT eft fanIdlyd if ^fes
did if 'dldl 'dldl % ?

(1) q̂idlHol

(2)
(3) ^sftfcPT
(4) SW*

Options:-

.1, Option ID 1057,

. 2, Option ID 1058,

. 3, Option ID 1059,

. 4, Option ID 1060,
Answer Given:- 3, Option ID : -1059

Question ID:- 266

Name of the minor plate located between South America and Pacific Plate ?
(1) Cocos Plate
(2) Nazca Plate
(3) Arabian Plate
(4) Phillippine Plate

(1) dftcbld ‘Ccte
teftz % ftsicf tftzi' ‘Gcftz W ] dTB % :WRf

(2) d.'Ji'til

(3) 3Afa«M ĉftz
(4) RhfdMld ‘^Z

Options:-

.1, Option ID :- 1061,

. 2, Option ID :- 1062,

. 3, Option ID :- 1063,

. 4, Option ID :- 1064,
Answer Given:- 4, Option ID : -1064

Question ID:- 267

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1065,  

. 2, Option ID :- 1066,  

. 3, Option ID :- 1067,  

. 4, Option ID :- 1068,  

 Answer Given:- 1, Option ID : -1065  
   
   
 Question ID:- 268  

   

 Options:-  

.1, Option ID :- 1069,  

. 2, Option ID :- 1070,  

. 3, Option ID :- 1071,  

. 4, Option ID :- 1072,  

 Answer Given:- 4, Option ID : -1072  
   
   
 Question ID:- 269  

Which one of the following is the important characteristic of Mid-Atlantic Ridge ?
(1) Divergent boundary
(2) Convergent boundary
(3) Subduction zone
(4) Transform boundary

PinfclRsld 3 cT$P4 % ?
(1) TfrRT
(2) a#ra^i 4T1RT

(3) 'yf^rsH sfr
(4) Tfhrr

Options:-

.1, Option ID 1065,

. 2, Option ID 1066,

. 3, Option ID 1067,

. 4, Option ID 1068,
Answer Given:- 1, Option ID : -1065

Question ID:- 268

Which one of the following landmasses was NOT the part of Gandwanaland ?
(1) Africa
(2) Madagascar
(3) Australia
(4) Siberia

iHHfdRad ^JSPSf TfT cRT Tff «TT ?
(1)
(2) Asi* ll*«h <
(3)
(4) TfT^IW

Options:-

.1, Option ID :- 1069,

. 2, Option ID :- 1070,

. 3, Option ID :- 1071,

. 4, Option ID :- 1072,
Answer Given:- 4, Option ID : -1072

Question ID:- 269

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1073,  

. 2, Option ID :- 1074,  

. 3, Option ID :- 1075,  

. 4, Option ID :- 1076,  

 Answer Given:- 3, Option ID : -1075  
   
   
 Question ID:- 270  

   

 Options:-  

.1, Option ID :- 1077,  

. 2, Option ID :- 1078,  

. 3, Option ID :- 1079,  

. 4, Option ID :- 1080,  

 Answer Given:- 1, Option ID : -1077  
   
   
 Question ID:- 271  

In which of the following climatic regions, the depth of weathered materials is maximum ?
(1) Tundra
(2) Steppe
(3) Tropical forest
(4) Desert

%?*J =bdH

(1) IF
(2)
(3) 3^1

(4)

Options:-

.1, Option ID 1073,

. 2, Option ID 1074,

. 3, Option ID 1075,

. 4, Option ID 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270

Which one of the following is NOT involved in exogentic forces ?
(1) Erosion
(2) Metamorphism
(3) Transportation
(4) Deposition

fHHfdRad Tf 4TT 3 ^P-HPdd 'Rff 1? ?
(i)
(2) <F'HI

*
C1<UI

(3)

(4)

Options:-

.1, Option ID :- 1077,

. 2, Option ID > 1078,

. 3, Option ID :- 1079,

. 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Question ID:- 271

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1081,  

. 2, Option ID :- 1082,  

. 3, Option ID :- 1083,  

. 4, Option ID :- 1084,  

 Answer Given:- 1, Option ID : -1081  
   
   
 Question ID:- 272  

   

 Options:-  

.1, Option ID :- 1085,  

. 2, Option ID :- 1086,  

. 3, Option ID :- 1087,  

. 4, Option ID :- 1088,  

 Answer Given:- 4, Option ID : -1088  
   
   
 Question ID:- 273  

Which one of the following statements is NOT correct about the process of soil formation ?
(1) Parent material is passive control factor in soil formation.
(2) Soils will be thin on steep slopes.
(3) Humus accumulation in cold climates is fast due to fast bacterial growth.
(4) Dead plants provide humus to soil.

eft Tjf^TT % «lT* if faHfdfisId if 3 7TT Wt^t ?
(1) fdnH if TJyT fid =hK =b 11
(2) dls«olcli (thin) % I

(3) <Jlelc(|^ if iqrRT cffe^IcTT t, f̂ffe W cft̂ T 11
(4) TJrl iff$ Tjm ^ e^Hfl "5HH ^Rcf 11

Options:-

.1, Option ID 1081,

. 2, Option ID 1082,

. 3, Option ID 1083,

. 4, Option ID > 1084,
Answer Given:- 1, Option ID : -1081

Question ID:- 272

Which one of the followings is a characteristic of old stage of landscapes developed by running
water ?
(1) Streams meander freely over vast flood plains
(2) Shallow V-shaped valleys
(3) Waterfalls and rapids
(4) V-shaped deep valleys

rdHfdRad if ^ 4TT Mdl l̂ld 'gHT fddipHd^5 fa^Hdl t ?
(1) % k̂ldf if if
(2) Wit V- STFfTR =Ft Mlfd4
(3) 'sidHHid ^
(4) V- 3114)11 M^tl Mild•Ml

Options:-

.1, Option ID :- 1085,

. 2, Option ID :- 1086,

. 3, Option ID :- 1087,

. 4, Option ID :- 1088,
Answer Given:- 4, Option ID : -1088

Question ID:- 273

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1089,  

. 2, Option ID :- 1090,  

. 3, Option ID :- 1091,  

. 4, Option ID :- 1092,  

 Answer Given:- 1, Option ID : -1089  
   
   
 Question ID:- 274  

   

 Options:-  

.1, Option ID :- 1093,  

. 2, Option ID :- 1094,  

. 3, Option ID :- 1095,  

. 4, Option ID :- 1096,  

 Answer Given:- 2, Option ID : -1094  
   
   
 Question ID:- 275  

Which one of the following statements is correct about Point bars ?
(1) They are low, linear and parallel deposited ridges along the river banks.
(2) They are loop-like channels.
(3) They are alluvial fans developed at foothills.
(4) They are formed on concave side of meanders of large rivers.

PinfelRslcl ’̂ 'il ^ =hH RT ^<{1 1? ?
(1) ^ Hl<4l % PlH , ^Rsl =b T̂T f3$Nul % I

(2) 11
(3) ^ fhfPT? TR ^ ^dtco '’PI "f I

(4) ^ Rft -ifc;4f % Icj'HHf % 3ic( clcl T̂eff ''R f I

Options:-

.1, Option ID 1089,

. 2, Option ID 1090,

. 3, Option ID 1091,

. 4, Option ID 1092,
Answer Given:- 1, Option ID : -1089

Question ID:- 274

The highest peak Mt. Everest is an example of which landform ?
(1) Cirque
(2) Horn
(3) Arete
(4) Col

(1) R%
(2)
(3) 3T^T

(4) W

Options:-

.1, Option ID :- 1093,

. 2, Option ID :- 1094,

. 3, Option ID :- 1095,

. 4, Option ID :- 1096,
Answer Given:- 2, Option ID : -1094

Question ID:- 275
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 Options:-  

.1, Option ID :- 1097,  

. 2, Option ID :- 1098,  

. 3, Option ID :- 1099,  

. 4, Option ID :- 1100,  

 Answer Given:- 4, Option ID : -1100  
   
   
 Question ID:- 276  

   

 Options:-  

.1, Option ID :- 1101,  

. 2, Option ID :- 1102,  

. 3, Option ID :- 1103,  

. 4, Option ID :- 1104,  

 Answer Given:- 2, Option ID : -1102  
   
   
 Question ID:- 277  

Which one of the following landforms offer the first defence against tsunami ?
(1) barrier
(2) beach dime
(3) off-shore bars
(4) mangroves

IdHfdRsid ^-311=11fa 3 Tf -HdlMl % ^strict f ?
(1) flV
(2)
(3) 3nMcid "47 <SH1
(4)

Options:-

.1, Option ID 1097,

. 2, Option ID 1098,

. 3, Option ID 1099,

. 4, Option ID > 1100,
Answer Given:- 4, Option ID : -1100

Question ID:- 276

Radio waves transmitted from the earth are reflected back to the earth by which one of the following
layers of atmosphere ?
(1) Stratosphere
(2) Troposphere
(3) Mesosphere
(4) Ionosphere

3 TRlTcT CR*T cil^facl^ faHPdndd R ^ faRT W R Hddfad RFTR 37Rft f ?
(1) <HHdlHHSd

(2) STtWScl
(3) WiHSd

(4) 3HlddH^d

Options:-

.1, Option ID :- 1101,

. 2, Option ID :- 1102,

. 3, Option ID :- 1103,

. 4, Option ID > 1104,
Answer Given:- 2, Option ID : -1102

Question ID:- 277
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https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 1105,  

. 2, Option ID :- 1106,  

. 3, Option ID :- 1107,  

. 4, Option ID :- 1108,  

 Answer Given:- 1, Option ID : -1105  
   
   
 Question ID:- 278  

   

 Options:-  

.1, Option ID :- 1109,  

. 2, Option ID :- 1110,  

. 3, Option ID :- 1111,  

. 4, Option ID :- 1112,  

 Answer Given:- 1, Option ID : -1109  
   
   
 Question ID:- 279  

Which one of the following will be the angle of Sun rays at Tropic of Capricorn when the sun is
overhead at Tropic of Cancer ?
(1) 47°
(2) 66V20
(3) 43°
(4) 23y2°

cfc4> 1 RT 1? cff Rdr!, FT ^>7 =bH PlHR'lRad if il =hM RfT $bll ?
(1) 47°
(2) 66V20
(3) 43°
(4) 23%°

Options:-

.1, Option ID 1105,

. 2, Option ID 1106,

. 3, Option ID 1107,

. 4, Option ID 1108,
Answer Given:- 1, Option ID : -1105

Question ID:- 278

Which one of the followingstatements is NOT correct about the factors controlling the temperature
of air at any place ?
(1) Compared to sea, land heats up and cools down slowly.
(2) The places near the sea-level record higher temperature.
(3) The temperature generally decreases with increasing height.
(4) Compared to land the sea gets heated slowly and looses heat slowly.

fHHfdRsid R̂f if RTT T8TR % clNHM fidBid T̂ef dTTRFvf % if^Rjff t ?
(1) TT5? ^cd-ll if B5T iffdT t? 1

(2) TPJg- tTcT Wff R7 rilMHM ^f I

(3) CIIHHM HlHI'dd: %^«1Wcfl %I

(4) dddl if TFp Jl4 3^ cj-̂ l tfldl %I

Options:-

.1, Option ID :- 1109,

. 2, Option ID :- 1110,

. 3, Option ID :- 1111,

. 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279
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 Options:-  

.1, Option ID :- 1113,  

. 2, Option ID :- 1114,  

. 3, Option ID :- 1115,  

. 4, Option ID :- 1116,  

 Answer Given:- 1, Option ID : -1113  
   
   
 Question ID:- 280  

   

 Options:-  

.1, Option ID :- 1117,  

. 2, Option ID :- 1118,  

. 3, Option ID :- 1119,  

. 4, Option ID :- 1120,  

 Answer Given:- 3, Option ID : -1119  
   
   
 Question ID:- 281  

The highest range of temperature between January and July is recorded over :
(1) Central-Africa
(2) North-eastern part of Asia
(3) Interior part of Australia
(4) Coastal part of Canada

% <41-c) 4NI ^Idl % :

(1) 3I

(2) H6isln % ’3rRt^*[FT 3 I

(3) % 3TFcffTTT *TPT |

(4) =hdlSI % T̂FT I

Options:-

.1, Option ID 1113,

. 2, Option ID 1114,

. 3, Option ID :- 1115,

. 4, Option ID > 1116,
Answer Given:- ] , Option ID : -1113

Question ID:- 280

In which part of the world, temperature inversion is normal throughout the year ?
(1) Equatorial areas.
(2) Desert areas.
(3) Inner areas of continents.
(4) Polar areas.

% ferr *IFT ^ d|4 HM oqi< ĥHIJl TTRPT %?
(1) I

(2) TPTSTefhl 3I

(3) H^ISIHI % 3ti*nl<«b 3 i

(4) ^Nf ^f f̂l

Options:-

.1, Option ID :- 1117,

. 2, Option ID :- 1118,

. 3, Option ID :- 1119,

. 4, Option ID :- 1120,
Answer Given:- 3, Option ID : -1119

Question ID:- 281
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 Options:-  

.1, Option ID :- 1121,  

. 2, Option ID :- 1122,  

. 3, Option ID :- 1123,  

. 4, Option ID :- 1124,  

 Answer Given:- 2, Option ID : -1122  
   
   
 Question ID:- 282  

   

 Options:-  

.1, Option ID :- 1125,  

. 2, Option ID :- 1126,  

. 3, Option ID :- 1127,  

. 4, Option ID :- 1128,  

 Answer Given:- 3, Option ID : -1127  
   
   
 Question ID:- 283  

Due to which one of the following reasons, maximum insolation is received over the subtropical
deserts ?
(1) Due to slant sun rays in these regions.
(2) Here the cloudiness is the least.
(3) The length of days is shorter here.
(4) Due to advection process.

SjfciT % ?Wi =bl<u|

(l) 3^^1 RK«1 P̂ ii % =t> Kui i

(2)
(3) f^T =Ft l?Tcfl 1? I

(4) yfsh -Mi % I

Options:-

.1, Option ID 1121,

. 2, Option ID 1122,

. 3, Option ID 1123,

. 4, Option ID > 1124,
Answer Given:- 2, Option ID : -1122

Question ID:- 282

Which one of the followings is the average temperature of the earth at sea-level ?
(1) 11.2°C
(2) 13.2°C
(3) 15.2°C
(4) 17.2°C

TIT % ?
(1) 11.2°

(2) 13.2°

(3) 15.2°

(4) 17.2°

Options:-

.1, Option ID :- 1125,

. 2, Option ID :- 1126,

. 3, Option ID :- 1127,

. 4, Option ID :- 1128,
Answer Given:- 3, Option ID : -1127

Question ID> 283
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 Options:-  

.1, Option ID :- 1129,  

. 2, Option ID :- 1130,  

. 3, Option ID :- 1131,  

. 4, Option ID :- 1132,  

 Answer Given:- 3, Option ID : -1131  
   
   
 Question ID:- 284  

   

 Options:-  

.1, Option ID :- 1133,  

. 2, Option ID :- 1134,  

. 3, Option ID :- 1135,  

. 4, Option ID :- 1136,  

 Answer Given:- 4, Option ID : -1136  
   
   
 Question ID:- 285  

In which one of the following directions the wind blows at the equator ?
(1) Perpendicular to the isobars
(2) Easterlies
(3) Westerlies
(4) North-East

?
(1) \̂ T3Tf % 4IH =bNl Tt

(2) ^(3) ''If3H Wf
(4) ‘3rRk‘IJ3:f

Options:-

.1, Option ID 1129,

. 2, Option ID 1130,

. 3, Option ID 1131,

. 4, Option ID > 1132,
Answer Given:- 3, Option ID : -1131

Question ID:- 284

Identify the correctly matched pair of cell and its region of circulation ?
Polar region
Temperate region
Polar region
Temperate region

(1) Hadley cell
(2) Hadley cell
(3) Walker cell
(4) Ferrel cell

^Tg §k % qAfeld ^ 'blRlM. I

(1) ts#^tg - igfa fa

(2) ^Tg - vf)'d|wJ| fa

(3) dl4> < ^>Tg - fa

(4) 3?Ig - fa

Options:-

.1, Option ID :- 1133,

. 2, Option ID :- 1134,

. 3, Option ID :- 1135,

. 4, Option ID :- 1136,
Answer Given:- 4, Option ID : -1136

Question ID:- 285
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 Options:-  

.1, Option ID :- 1137,  

. 2, Option ID :- 1138,  

. 3, Option ID :- 1139,  

. 4, Option ID :- 1140,  

 Answer Given:- 1, Option ID : -1137  
   
   
 Question ID:- 286  

   

 Options:-  

.1, Option ID :- 1141,  

. 2, Option ID :- 1142,  

. 3, Option ID :- 1143,  

. 4, Option ID :- 1144,  

 Answer Given:- 3, Option ID : -1143  
   
   
 Question ID:- 287  

Which one of the following fronts of temperate cyclone is associated with rainfall and snowfall ?
(1) Cold front
(2) Stationary front
(3) Warm front
(4) Occluded front

% qicIliJ % f ?c)5bciio

(1) cnoiii

(2)
(3)
(4) 3#lfrg qicmi

Options:-

.1, Option ID 1137,

. 2, Option ID 1138,

. 3, Option ID 1139,

. 4, Option ID > 1140,
Answer Given:- Option ID : -1137

Question ID> 286

The tropical cyclones originating in the Atlantic ocean are known as :
(1) Hurricanes
(2) Typhoons
(3) Willy-willies
(4) Cyclones

^ "c|sbc|Icil ŜTTcTT % :

(1)

(2) ZWF
(3) facil -faefl'*!
(4) -cislicilrl

Options:-

.1, Option ID :- 1141,

. 2, Option ID :- 1142,

. 3, Option ID :- 1143,

. 4, Option ID :- 1144,
Answer Given:- 3, Option ID : -1143

Question ID:- 287
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 Options:-  

.1, Option ID :- 1145,  

. 2, Option ID :- 1146,  

. 3, Option ID :- 1147,  

. 4, Option ID :- 1148,  

 Answer Given:- 3, Option ID : -1147  
   
   
 Question ID:- 288  

   

 Options:-  

.1, Option ID :- 1149,  

. 2, Option ID :- 1150,  

. 3, Option ID :- 1151,  

. 4, Option ID :- 1152,  

 Answer Given:- 4, Option ID : -1152  
   
   
 Question ID:- 289  

Which one of the followings forms on cold surfaces when condensation takes place below freezing
point temperature ?
(1) Dew
(2) Fog
(3) Frost
(4) Clouds

PinfciRsid *¥ ^ FIT ciif! HdsI TR FRFFT % Fl =hM dlHHId TR <Mddl % ?'JlHM

(1) 3TtR
(2) ^Cf

(3)
(4)

Options:-

.1, Option ID 1145,

. 2, Option ID > 1146,

. 3, Option ID 1147,

. 4, Option ID > 1148,
Answer Given:- 3, Option ID : -1147

Question ID> 288

Identify the correct pair of cloud and its description.
(1) Stratus
(2) Nimbus
(3) Cirrus
(4) Cumulus

feathery appearance
black and dark gray
look like cotton wool
layered clouds

fyj sftT ppifa % fy^fdd 'jn-I I

(1) RRt "fyl - RTI % FTRH Wfa iffcl 11
(2) RT % f I

(3) % RRH f^aci f i

(4) fyl - *Rd<K fyr I

Options:-

.1, Option ID :- 1149,

. 2, Option ID :- 1150,

. 3, Option ID :- 1151,

. 4, Option ID :- 1152,
Answer Given:- 4, Option ID : -1152

Question ID> 289
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 Options:-  

.1, Option ID :- 1153,  

. 2, Option ID :- 1154,  

. 3, Option ID :- 1155,  

. 4, Option ID :- 1156,  

 Answer Given:- 4, Option ID : -1156  
   
   
 Question ID:- 290  

   

 Options:-  

.1, Option ID :- 1157,  

. 2, Option ID :- 1158,  

. 3, Option ID :- 1159,  

. 4, Option ID :- 1160,  

 Answer Given:- 2, Option ID : -1158  
   
   
 Question ID:- 291  

Which one of the followings is the normal lapse rate of temperature in the troposphere ?
(1) 9.5°C/km
(2) 8.5°C/km
(3) 7.5°C/km
(4) 6.5°C/km

dIHHM PlHft'lRsicI 3^ #f ?
(1) 9.5°
(2) 8.5°
(3) 7.5°

(4) 6.5°

Options:-

.1, Option ID 1153,

. 2, Option ID 1154,

. 3, Option ID 1155,

. 4, Option ID 1156,
Answer Given:- 4, Option ID : -1156

Question ID> 290

Which one of the followings Koeppen's climate types is charcterised by no dry season with warm
and cool summer ?
(1) Cfb
(2) BSk
(3) BWh
(4) EF

iHHfdRad =hl l̂H % Middle 3^ ^ ^Biff, diWi cT«IT *11dd Tit̂ T f ?
(1) Cfb
(2) BSk
(3) Bwh
(4) EF

Options:-

.1, Option ID :- 1157,

. 2, Option ID > 1158,

. 3, Option ID :- 1159,

. 4, Option ID :- 1160,
Answer Given:- 2, Option ID : -1158

Question ID:- 291
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 Options:-  

.1, Option ID :- 1161,  

. 2, Option ID :- 1162,  

. 3, Option ID :- 1163,  

. 4, Option ID :- 1164,  

 Answer Given:- 2, Option ID : -1162  
   
   
 Question ID:- 292  

   

 Options:-  

.1, Option ID :- 1165,  

. 2, Option ID :- 1166,  

. 3, Option ID :- 1167,  

. 4, Option ID :- 1168,  

 Answer Given:- 2, Option ID : -1166  
   
   
 Question ID:- 293  

Higher salinity is recorded in the North Sea due to which one of the following ?
(1) Due to high evaporation.
(2) Due to influx of river waters in large quantity.
(3) Due to more saline water brought by the North Atlantic Drift.
(4) Due to influx of melted water from the Artie ocean.

8d0 WR 3
(1) ‘ Êf c)|fcq|cf,< u|% cbi < u||

(2) Rgd RTRT if % RHt % TOI % =hl <ul I

(3) cMdellfd^h ‘Staffi? % sJKT eilM, RTf SfftfRT RRoflR Ref % RTITRI

(4) 3HI4> Fetch Rif IHMCII|T3TI Ref 3ffi % =hKul I

FinleiRsid if if r=h^^ chK'Ji % ?elduldl

Options:-

.1, Option ID 1161,

. 2, Option ID 1162,

. 3, Option ID 1163,

. 4, Option ID > 1164,
Answer Given:- 2, Option ID : -1162

Question ID> 292

Which one of the followings is the general rate of decrease of ocean surface temperature from
equator towards poles ?
(1) 0.3°C/latitude
(2) 0.5°C/latitude
(3) 0.8°C/latitude
(4) 1.1°C/latitude

FRJRR ifRT R SJRf R?f 3?K Rcfe? % Ref % dNHM % R2rf Rft RTRRf R7 IdpHrlRdd if if RTH Rft 1? ?
(1) 0.3° 3./3R5JTR

(2) 0.5° 3./3WRT
(3) o.8°

(4) i.i°

Options:-

.1, Option ID :- 1165,

. 2, Option ID :- 1166,

. 3, Option ID :- 1167,

. 4, Option ID :- 1168,
Answer Given:- 2, Option ID : -1166

Question ID> 293
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 Options:-  

.1, Option ID :- 1169,  

. 2, Option ID :- 1170,  

. 3, Option ID :- 1171,  

. 4, Option ID :- 1172,  

 Answer Given:- 2, Option ID : -1170  
   
   
 Question ID:- 294  

   

 Options:-  

.1, Option ID :- 1173,  

. 2, Option ID :- 1174,  

. 3, Option ID :- 1175,  

. 4, Option ID :- 1176,  

 Answer Given:- 3, Option ID : -1175  
   
   
 Question ID:- 295  

Which one of the followings is a flat topped submerged seamount ?
(1) Atoll
(2) Guyot
(3) Seamount
(4) Submarine Canyon

PinfclRsld *¥ Rll<g< ÎdT 'sldHM ZtdT t ?
(1)
(2) fW3

(3)
(4) ddHH

Options:-
.1, Option ID 1169,

. 2, Option ID 1170,

. 3, Option ID 1171,

. 4, Option ID > 1172,
Answer Given:- 2, Option ID : -1170

Question ID> 294

In which one of the followings, the water particles only travel in a small circle ?
(1) Tides
(2) Ocean currents
(3) Surges
(4) Waves

IdHfdRsld 3 'JlddiWI ^didiR TFT Tif?T |f ?
(1) R̂-WI

(2) H^RIHldil %TRI^(3) HS)F4 ( surges )

(4) cfFf

Options:-
.1, Option ID :- 1173,

. 2, Option ID :- 1174,

.3, Option ID :- 1175,

. 4, Option ID :- 1176,
Answer Given:- 3, Option ID : -1175

Question ID:- 295
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 Options:-  

.1, Option ID :- 1177,  

. 2, Option ID :- 1178,  

. 3, Option ID :- 1179,  

. 4, Option ID :- 1180,  

 Answer Given:- 1, Option ID : -1177  
   
   
 Question ID:- 296  

   

 Options:-  

.1, Option ID :- 1181,  

. 2, Option ID :- 1182,  

. 3, Option ID :- 1183,  

. 4, Option ID :- 1184,  

 Answer Given:- 2, Option ID : -1182  
   
   
 Question ID:- 297  

Identify the country from the following, in which mega diversity centre is NOT located ?
(1) Netherlands
(2) Madagascar
(3) China
(4) India

PinRiRsid 3^ BFf ^ f3RFf Rff ftsjcT % ?
(1)
(2)
(3)
(4) K̂cT

Options:-

.1, Option ID 1177,

. 2, Option ID 1178,

. 3, Option ID 1179,

. 4, Option ID 1180,
Answer Given:- Option ID : -1177

Question ID:- 296

The Kobe-Osaka region of Japan is thickly populated. The basic reason of this is :
(1) Fertile soils
(2) Presence of a number of industries
(3) Favourable landscape
(4) Government offers incentives

*1NH T>1^T^-3TP4T3TT TH&T TRR ®RTT|3Ti11 tjyl R̂TT t:

(1) 8M'J||<jr)

(2) 3 j|J?l R̂l
(3) 3l^d T̂ ell^lcl
(4) Mlrfll^H ^cff %

Options:-

.1, Option ID :- 1181,

. 2, Option ID > 1182,

. 3, Option ID :- 1183,

. 4, Option ID :- 1184,
Answer Given:- 2, Option ID : -1182

Question ID:- 297
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 Options:-  

.1, Option ID :- 1185,  

. 2, Option ID :- 1186,  

. 3, Option ID :- 1187,  

. 4, Option ID :- 1188,  

 Answer Given:- 3, Option ID : -1187  
   
   
 Question ID:- 298  

   

 Options:-  

.1, Option ID :- 1189,  

. 2, Option ID :- 1190,  

. 3, Option ID :- 1191,  

. 4, Option ID :- 1192,  

 Answer Given:- 3, Option ID : -1191  
   
   

In the crude birth rate formula,

= ^ x 1000 ; 'P stands for :

(1) Population of the area on 31st December
(2) Population of the area on1st January
(3) Population of the area on1st April
(4) Mid-year Population of the area

CBR

3PRTlfPd (CBR) %^CBR = y x 1000 , IPif 'P P?I t :

(1) P=hPl if 31 f^P®R 'JH'HOm

(2) fcpft fa % 1 PPP$ fa

(3) fepft fa if 1 3#eT pft

(4) fansft fa if %P«P Pft 'JM'HOm

Options:-

.1, Option ID 1185,

. 2, Option ID > 1186,

. 3, Option ID 1187,

. 4, Option ID 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

The increase of world population from 3 billion to 4 billion took which one of the following durations ?
(1) 15 years
(2) 30 years
(3) 100 years
(4) 50 years

fp?P pft PFFP 'JMPOHI 3 3FP 4 3RP PPT P PinRlRsId if P Pf Ppfp FPTt ?
(1) 15 fa

(2) 30 fa

(3) 100 fa

(4) 50 fa

Options:-

.1, Option ID :- 1189,

. 2, Option ID :- 1190,

. 3, Option ID :- 1191,

. 4, Option ID :- 1192,
Answer Given:- 3, Option ID : -1191
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 Question ID:- 299  

   

 Options:-  

.1, Option ID :- 1193,  

. 2, Option ID :- 1194,  

. 3, Option ID :- 1195,  

. 4, Option ID :- 1196,  

 Answer Given:- 3, Option ID : -1195  
   
   
 Question ID:- 300  

   

 Options:-  

.1, Option ID :- 1197,  

. 2, Option ID :- 1198,  

. 3, Option ID :- 1199,  

. 4, Option ID :- 1200,  

 Answer Given:- 1, Option ID : -1197  
   
   
 Question ID:- 301  

Question ID:- 299

Which one of the following approaches to human development was initially proposed by the
International Labour Organisation ?
(1) Income Approach
(2) Welfare Approach
(3) Basic Needs Approach
(4) Capability Approach

F4 % ywifad f^Tj ?
(1) 3TPT SMFffl

(2) 'txriliul <JHHlH

(3) 37T*TR*jcT 4MMIH

(4) SlBciT AMM 1 M

Options:-

.1, Option ID :- 1193,

. 2, Option ID :- 1194,

. 3, Option ID :- 1195,

. 4, Option ID > 1196,
Answer Given:- 3, Option ID : -1195

Question ID:- 300

The age-sex pyramid of which one of the following countries is bell-shaped ?
(1) Nigeria
(2) Japan
(3) India
(4) Australia

[, Pb*hbl STT^-feFT PKIPHS % 3TRTR % ?
(1) 'll^'sflR^l

(2) *II 4H

(3) ma
(4) 341-̂ Rl’HI

Options:-

.1, Option ID :- 1197,

. 2, Option ID :- 1198,

. 3, Option ID :- 1199,

. 4, Option ID :- 1200,
Answer Given:- 1, Option ID : -1197

Question ID:- 301
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 Options:-  

.1, Option ID :- 1201,  

. 2, Option ID :- 1202,  

. 3, Option ID :- 1203,  

. 4, Option ID :- 1204,  

 Answer Given:- 3, Option ID : -1203  
   
   
 Question ID:- 302  

   

 Options:-  

.1, Option ID :- 1205,  

. 2, Option ID :- 1206,  

. 3, Option ID :- 1207,  

. 4, Option ID :- 1208,  

 Answer Given:- 1, Option ID : -1205  
   
   
 Question ID:- 303  

Which one of the followings is the sub-field of Social Geography ?
(1) Resource geography
(2) Medical geography
(3) Agriculture geography
(4) Industrial geography

PinfclRsld *¥ &, 4TT =FT % ?
(1)
(2) PdfocUl ^TtcT
(3)

(4) ^ilei

Options:-

.1, Option ID 1201,

. 2, Option ID 1202,

. 3, Option ID 1203,

. 4, Option ID > 1204,
Answer Given:- 3, Option ID : -1203

Question ID> 302

Which one of the followings is the characteristics of first stage of demographic transition ?
(1) High fertility and high mortality
(2) High fertility and low mortality
(3) Low fertility and low mortality
(4) Low fertility and high mortality

flJhH'JI 'RSPT PinlelRsId Tf ^^34Tt 1? ?
(1) "3^ M'Jld^ddl sffc "3^ Hc4dl

(2) “3^ M^H^cddl sfft fTR Hc4dl

(3) PdH y'JH^Dddl 3^fin Hc4dl

(4) IHH 3?k 3^ Hr4dt

Options:-

.1, Option ID :- 1205,

. 2, Option ID :- 1206,

. 3, Option ID :- 1207,

. 4, Option ID :- 1208,
Answer Given:- 1, Option ID : -1205

Question ID:- 303
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 Options:-  

.1, Option ID :- 1209,  

. 2, Option ID :- 1210,  

. 3, Option ID :- 1211,  

. 4, Option ID :- 1212,  

 Answer Given:- 3, Option ID : -1211  
   
   
 Question ID:- 304  

   

 Options:-  

.1, Option ID :- 1213,  

. 2, Option ID :- 1214,  

. 3, Option ID :- 1215,  

. 4, Option ID :- 1216,  

 Answer Given:- 2, Option ID : -1214  
   
   
 Question ID:- 305  

In high latitude zones, food gathering is practised in
(1) Amazon basin
(2) Tropical Africa
(3) Northern Canada
(4) Papua New Guinea

3^ 37^1^11 if ^|VJH

(1)

if 'fesn t lT̂TcIT

(2)

(3) TrRl <*Hl4l

(4) TTJSTT
Options:-

.1, Option ID 1209,

. 2, Option ID 1210,

. 3, Option ID 1211,

. 4, Option ID > 1212,
Answer Given:- 3, Option ID : -1211

Question ID:- 304

The slash and bum agriculture is known by which one of the followings in Central America ?
(1) Jhuming
(2) Ladang
(3) Tamrai
(4) Milpa

t?3iAR=hl if PiHidRsId if if PivH4> gTRT ‘SfHI Wtff

(1)
(2) cTTcfFT
(3) cPP4
(4) PH<THI

Options:-

.1, Option ID :- 1213,

. 2, Option ID :- 1214,

. 3, Option ID :- 1215,

. 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1217,  

. 2, Option ID :- 1218,  

. 3, Option ID :- 1219,  

. 4, Option ID :- 1220,  

 Answer Given:- 1, Option ID : -1217  
   
   
 Question ID:- 306  

   

 Options:-  

.1, Option ID :- 1221,  

. 2, Option ID :- 1222,  

. 3, Option ID :- 1223,  

. 4, Option ID :- 1224,  

 Answer Given:- 2, Option ID : -1222  
   
   
 Question ID:- 307  

Which one of the following regions of commercial dairy farming is the largest in the world ?
(1) South-Eastern Australia
(2) North-Western Europe
(3) New Zealand
(4) Canada

c-HiHiRct, «rsi ^5f RnRiRan Tf 4TT ft ?
(1) ^i^Rrt’Hi

(2) TCR-HRMHI
(3) ^IcT-S
(4) <=MISI

Options:-

.1, Option ID 1217,

. 2, Option ID 1218,

. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- Option ID : -1217

Question ID> 306

Mumbai's Dabbawala (tiffin) activities come under which one of the followings ?
(1) Primary activities
(2) Secondary activities
(3) Tertiary activities
(4) Quaternary activities

( ^ MdRacl ^ STcPf^34Tcft % ?
(1) 'STPlfirei fsh-MIH
(2) rsnl <4=b fsb4l 0(

(3) <3cfN=h

(4)

-Soo(|c<Hl

Options:-

.1, Option ID :- 1221,

. 2, Option ID :- 1222,

. 3, Option ID :- 1223,

. 4, Option ID :- 1224,
Answer Given:- 2, Option ID : -1222

Question ID:- 307

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1225,  

. 2, Option ID :- 1226,  

. 3, Option ID :- 1227,  

. 4, Option ID :- 1228,  

 Answer Given:- 3, Option ID : -1227  
   
   
 Question ID:- 308  

   

 Options:-  

.1, Option ID :- 1229,  

. 2, Option ID :- 1230,  

. 3, Option ID :- 1231,  

. 4, Option ID :- 1232,  

 Answer Given:- 1, Option ID : -1229  
   
   
 Question ID:- 309  

Which one of the followings is a personal means of communication ?
(1) Radio
(2) Television
(3) Email
(4) Newspaper

PiniclRsld 3^ offo 4TT, WFf % ?
(1) fell
(2)

(3)
(4) 4IHMK

Options:-

.1, Option ID 1225,

. 2, Option ID 1226,

. 3, Option ID 1227,

. 4, Option ID > 1228,
Answer Given:- 3, Option ID : -1227

Question ID:- 308

Which one of the followings is 'Gold color' worker ?
(1) Consultants
(2) Bank officials
(3) Insurance service providers
(4) Computer operators

PtnRlRsld ^ RfT *=hTc1< * ^f*H=h % ?
(1) MdH^dldl

(2) SlteRt
(3) «ftaT ^RTT

(4) 3HTHV<

Options:-

.1, Option ID :- 1229,

. 2, Option ID :- 1230,

. 3, Option ID :- 1231,

. 4, Option ID :- 1232,
Answer Given:- 1, Option ID : -1229

Question ID:- 309

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1233,  

. 2, Option ID :- 1234,  

. 3, Option ID :- 1235,  

. 4, Option ID :- 1236,  

 Answer Given:- 3, Option ID : -1235  
   
   
 Question ID:- 310  

   

 Options:-  

.1, Option ID :- 1237,  

. 2, Option ID :- 1238,  

. 3, Option ID :- 1239,  

. 4, Option ID :- 1240,  

 Answer Given:- 2, Option ID : -1238  
   
   
 Question ID:- 311  

Which one of the followings, does NOT involve quartemary activity ?
(1) Collection of information
(2) Production of information
(3) Dissemination of information
(4) Dealing in banking services

PiniciRsid fohttA* istvHiiP f ?
(1) TiT Ht46ul

(2)
(3) ^-̂ H! 3RT 3raK

(4) ^raratf ^
Options:-

.1, Option ID 1233,

. 2, Option ID 1234,

. 3, Option ID 1235,

. 4, Option ID > 1236,
Answer Given:- 3, Option ID : -1235

Question ID:- 310

Highly mechanised, high per person yield but low per acre yield is associated with which one of
the following types of agriculture ?
(1) Intensive subsistence agriculture
(2) Extensive commercial grain cultivation
(3) Mixed farming
(4) Primitive subsistence agriculture

37c*Tf*I=f> H*fldl'Mul, <f55[ Tjfrf 3ff?T k,=h-S ‘3T51, PlHPelftad frfq % f^T y=bK ^t ?
(1) hIR Plc|f$ fifa
(2) Pcl^d dlP»M 3RR

(3) fafsid frfq
(4) <*idld Pl=li$

Options:-

.1, Option ID :- 1237,

. 2, Option ID :- 1238,

. 3, Option ID :- 1239,

. 4, Option ID :- 1240,
Answer Given:- 2, Option ID : -1238

Question ID:- 311

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1241,  

. 2, Option ID :- 1242,  

. 3, Option ID :- 1243,  

. 4, Option ID :- 1244,  

 Answer Given:- 3, Option ID : -1243  
   
   
 Question ID:- 312  

   

 Options:-  

.1, Option ID :- 1245,  

. 2, Option ID :- 1246,  

. 3, Option ID :- 1247,  

. 4, Option ID :- 1248,  

 Answer Given:- 3, Option ID : -1247  
   
   
 Question ID:- 313  

Identify the correct descending sequence (large scale to small scale) of following maps :
(1) Topographical map - Atlas map - Wall map - Cadastral map
(2) Wall map - Adas map - Cadastral map - Topographical map
(3) Topographical map - Cadastral map - Wall map - Atlas map
(4) Cadastral map - Topographical map - Wall map - Atlas map

(f?cf HIH'll ^ ehj HIHH) ) cplP̂ lM. I

(1) HMpc|?l

(2) f r̂frT HUp^- Midfl HHP̂ - -̂HHftl HUp'̂ -T^dl'^fd'*) HMp=l^
(3) HHP̂ -^MPTI HHpc( 5)-f r̂frl HHP̂
(4) MPd HMP̂ 5)-M^ HMp33- i<dQi*i HMP̂ ^

Options:-

.1, Option ID 1241,

. 2, Option ID 1242,

. 3, Option ID 1243,

. 4, Option ID > 1244,
Answer Given:- 3, Option ID : -1243

Question ID:- 312

Which one of the following instruments is used to calculate area on a map ?
(1) Rotameter
(2) Anemometer
(3) Planimeter
(4) Hygrometer

PtnRiRsici f̂ rt HMP̂ T* -> iaHi f^rqr n̂?n % ?
(1) Plii4ld<
(2) M.4IH) 4W
(3)
(4) si î'lnk*

Options:-

.1, Option ID :- 1245,

. 2, Option ID :- 1246,

. 3, Option ID :- 1247,

. 4, Option ID :- 1248,
Answer Given:- 3, Option ID : -1247

Question ID:- 313

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1249,  

. 2, Option ID :- 1250,  

. 3, Option ID :- 1251,  

. 4, Option ID :- 1252,  

 Answer Given:- 3, Option ID : -1251  
   
   
 Question ID:- 314  

   

 Options:-  

.1, Option ID :- 1253,  

. 2, Option ID :- 1254,  

. 3, Option ID :- 1255,  

. 4, Option ID :- 1256,  

 Answer Given:- 3, Option ID : -1255  
   
   
 Question ID:- 315  

At which one of the following longitudes it will be 6 a.m., when the time at Greenwich is 1 pan. ?
(1) 75° W
(2) 105° W
(3) 75° E
(4) 105° E

PinRlRsld fejR ''R % 6 ®Fsl 'gfft W RlfH^ (Greenwich) ^R 4RRT SPRlff 1 f I

(1) 75° R.

(2) 105° R

(3) 75°^(4) 105°\
Options:-

.1, Option ID 1249,

. 2, Option ID 1250,

. 3, Option ID 1251,

. 4, Option ID > 1252,
Answer Given:- 3, Option ID : -1251

Question ID:- 314

Which one of the following projections is drawn when the source of light is placed at infinity
distance from the globe ?
(1) Orthographic
(2) Gnomonic
(3) Stereographic
(4) Mercator

PiHfdRad %R ^TEFfT Rrlta ^ 3ETcf Cjfl R* RsidH t̂ Weft t ?
(1) TfSta
(2)
(3) ftrfW
(4) Rfe USfa

Options:-

.1, Option ID :- 1253,

. 2, Option ID :- 1254,

. 3, Option ID > 1255,

. 4, Option ID :- 1256,
Answer Given:- 3, Option ID : -1255

Question ID:- 315

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1257,  

. 2, Option ID :- 1258,  

. 3, Option ID :- 1259,  

. 4, Option ID :- 1260,  

 Answer Given:- 3, Option ID : -1259  
   
   
 Question ID:- 316  

   

 Options:-  

.1, Option ID :- 1261,  

. 2, Option ID :- 1262,  

. 3, Option ID :- 1263,  

. 4, Option ID :- 1264,  

 Answer Given:- 1, Option ID : -1261  
   
   
 Question ID:- 317  

Which one of the followings represents the latitudinal and longitudinal coverage of a topographical
map on 1 : 50,000 scale ?
(1) l° xl°
(2) 15' x15'
(3) 15' x 7'30"
(4) 30' X 30'

fHHfdRsid HT c^iKlOq fd 4dk 1:50,000 Ml Mil % l^c1 i <2> fd <*> Mdftfd ^RdT t ?
(1) 1° X1°
(2) 15' x15'
(3) 15' x 7'30"
(4) 30' x 30'

Options:-

.1, Option ID 1257,

. 2, Option ID 1258,

. 3, Option ID 1259,

. 4, Option ID > 1260,
Answer Given:- 3, Option ID : -1259

Question ID:- 316

In a standard False Colour Composite (FCC) image, which one of the following colours is assigned
to Infrared radiation ?
(1) Violet
(2) Green
(3) Red
(4) Blue

HH°h Tht (TJXfJ # #) if 31cKdd IWUUI fdHRifted VT {JRT faf^fg% T̂T T̂RTT % ?
(1) Ifrft
(2)
(3) eTM

(4) ‘rfcrr

Options:-

.1, Option ID :- 1261,

. 2, Option ID :- 1262,

. 3, Option ID :- 1263,

. 4, Option ID :- 1264,
Answer Given:- 1, Option ID : -1261

Question ID:- 317

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 1265,  

. 2, Option ID :- 1266,  

. 3, Option ID :- 1267,  

. 4, Option ID :- 1268,  

 Answer Given:- 4, Option ID : -1268  
   
   
 Question ID:- 318  

   

 Options:-  

.1, Option ID :- 1269,  

. 2, Option ID :- 1270,  

. 3, Option ID :- 1271,  

. 4, Option ID :- 1272,  

 Answer Given:- 2, Option ID : -1270  
   
   
 Question ID:- 319  

Which one of the following towns is not correctly matched with its functional class ?
Chennai
Varanasi
Dhanbed
Broken Hill

(1) Administrative Town
(2) Cultural Town
(3) Mining Town
(4) Recreation and Health Town

PIHRIRSICI "RT

-(l)

(2) RRT - C(KI'J|'H1
(3) TsFH RRR - VRRTC

(4) H’iU'Jl'l TT MW RRR - tf?vf

Options:-

.1, Option ID 1265,

. 2, Option ID 1266,

. 3, Option ID > 1267,

. 4, Option ID > 1268,
Answer Given:- 4, Option ID : -1268

Question ID:- 318

Which one of the following percentages is for present world urban population ?
(1) 33%
(2) 45%
(3) 56%
(4) 48%

RTT c|^HH -I 4 KIR MRRTMTT RR MRlPlIVM =h<dl 1? ?
(1) 33%
(2) 45%
(3) 56%
(4) 48%

Options:-

.1, Option ID :- 1269,

. 2, Option ID :- 1270,

. 3, Option ID :- 1271,

. 4, Option ID :- 1272,
Answer Given:- 2, Option ID : -1270

Question ID> 319
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 Options:-  

.1, Option ID :- 1273,  

. 2, Option ID :- 1274,  

. 3, Option ID :- 1275,  

. 4, Option ID :- 1276,  

 Answer Given:- 1, Option ID : -1273  
   
   
 Question ID:- 320  

   

 Options:-  

.1, Option ID :- 1277,  

. 2, Option ID :- 1278,  

. 3, Option ID :- 1279,  

. 4, Option ID :- 1280,  

 Answer Given:- 1, Option ID : -1277  
   
   
 Question ID:- 321  

Who applied the term 'megalopolis' for the super-metropolitan region extending as union of
conurbations ?
(1) Patrick Geddes
(2) Walter Burley Griffin
(3) Le Corbusier
(4) Jean Gottaman

3 ‘^TT̂ fprlf^RT’ TTi TPTPT fsFv?TT ?
(1) PlfS'il

(2) qicre< Îrft ftlftFf
(3) eft chKsjPim
(4) <ftd

Options:-

.1, Option ID 1273,

. 2, Option ID 1274,

. 3, Option ID 1275,

. 4, Option ID > 1276,
Answer Given:- 1, Option ID : -1273

Question ID:- 320

Which one of the followings is NOT an inland port ?
(1) Hoogli
(2) Athens
(3) Manchester
(4) Duisburg

PinfdRad ft ft TIT 3TcTc(ftfa TrR Hsff ft ?
(1)
(2)
(3)

(4)

Options:-

.1, Option ID :- 1277,

. 2, Option ID :- 1278,

. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 1, Option ID : -1277

Question ID:- 321

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1281,  

. 2, Option ID :- 1282,  

. 3, Option ID :- 1283,  

. 4, Option ID :- 1284,  

 Answer Given:- 3, Option ID : -1283  
   
   
 Question ID:- 322  

   

 Options:-  

.1, Option ID :- 1285,  

. 2, Option ID :- 1286,  

. 3, Option ID :- 1287,  

. 4, Option ID :- 1288,  

 Answer Given:- 3, Option ID : -1287  
   
   
 Question ID:- 323  

Which one of the following Trans-continental railway routes runs through Uspallata Pass ?
(1) Trans - Siberian
(2) Trans - Canadian
(3) Trans - South American
(4) Trans - Australian

PinRiRsid 3
(1) TR-TfT^f^H

(2)
(3) PK-^%4
(4) PR-STR^feFH

^<01%?Tfl PR-
'

Options:-

.1, Option ID 1281,

. 2, Option ID 1282,

. 3, Option ID 1283,

. 4, Option ID > 1284,
Answer Given:- 3, Option ID : -1283

Question ID:- 322

Which one of the following regional bloc is correctly matched with its headquarter ?
Bangkok
Minsk
Vienna
Brussels

(1) ASEAN
(2) CIS
(3) EU
(4) OPEC

PinRiRan fpRT yi^fei -* 4RJ? PiT ^oMid'H ^Pcid f ?
(1)
(2)
(3) i\- -f^nr
(4) 3Tf^P7 -

Options:-

.1, Option ID :- 1285,

. 2, Option ID :- 1286,

. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 3, Option ID : -1287

Question ID:- 323

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1289,  

. 2, Option ID :- 1290,  

. 3, Option ID :- 1291,  

. 4, Option ID :- 1292,  

 Answer Given:- 2, Option ID : -1290  
   
   
 Question ID:- 324  

   

 Options:-  

.1, Option ID :- 1293,  

. 2, Option ID :- 1294,  

. 3, Option ID :- 1295,  

. 4, Option ID :- 1296,  

 Answer Given:- 1, Option ID : -1293  
   
   
 Question ID:- 325  

Rhine waterway is navigable from Rotterdam to which one of the following places ?
(1) Basel, Switzerland
(2) Stuttgart, Germany
(3) Dortmund, Germany
(4) Nancy, France

(1)
(2) "5T44
(3) sldH-S,

(4) 441, TFRT

dtdil'Md 44*1 "f ?

Options:-

.1, Option ID 1289,

. 2, Option ID 1290,

. 3, Option ID 1291,

. 4, Option ID > 1292,
Answer Given:- 2, Option ID : -1290

Question ID:- 324

Which one of the following statements is NOT correct ?
(1) Big Inch pipeline is in USA.
(2) Trans-continental Staurt Highway is in Australia.
(3) Alaska Highway extends from Los Angeles to Anchorage in Alaska.
(4) Trans-Canadian Highway links Vancouver and St. John's city.

pTHfafad 4'^RTTT Wf ?
(1) fsPT Ip3 4 f4lcf % I

(2) HOT!3TR4%TI 4f I

(3) 3icr1 l <r=hl <MHHI 3TT fa*dK cfPFT 444RT 4 3R7R<FT 4 cT̂ F 1? I

(4) <MHl4 4ft 4fe WR 4Wdl 11
Options:-

.1, Option ID :- 1293,

. 2, Option ID :- 1294,

. 3, Option ID :- 1295,

. 4, Option ID :- 1296,
Answer Given:- 1, Option ID : -1293

Question ID:- 325

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1297,  

. 2, Option ID :- 1298,  

. 3, Option ID :- 1299,  

. 4, Option ID :- 1300,  

 Answer Given:- 4, Option ID : -1300  
   
   
 Question ID:- 326  

   

 Options:-  

.1, Option ID :- 1301,  

. 2, Option ID :- 1302,  

. 3, Option ID :- 1303,  

. 4, Option ID :- 1304,  

 Answer Given:- 3, Option ID : -1303  
   
   
 Question ID:- 327  

Which one of the following sea trade routes is called the 'Big Trunk Route' ?
(1) The Northern Atlantic sea route
(2) Suez canal route
(3) Panama canal route
(4) The North Pacific sea route

PiniciRsid foil BFf^ PFf ” % ?
(1)
(2) RFf
(3) WT RPf
(4)

Options:-
.1, Option ID 1297,
.2, Option ID 1298,
.3,Option ID 1299,
. 4, Option ID 1300,
Answer Given:- 4, Option ID: -1300

Question ID> 326

Which one of the following is the World's largest land-locked harbour ?
(1) Vishakhapatnam
(2) San Francisco
(3) Sao Paulo
(4) Maracaibo

PiHfdRad T? TIT 1%̂ =FT W3

(1) fci^lKSIIHd'IH

t ?

(2)
(3) TTTatr TTratfeft
(4) HRI =bl $4l

Options:-
.1, Option ID :- 1301,
.2, Option ID:- 1302,
.3,Option ID :- 1303,
.4, Option ID:- 1304,
Answer Given:- 3,Option ID: -1303

Question ID:- 327
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 Options:-  

.1, Option ID :- 1305,  

. 2, Option ID :- 1306,  

. 3, Option ID :- 1307,  

. 4, Option ID :- 1308,  

 Answer Given:- 3, Option ID : -1307  
   
   
 Question ID:- 328  

   

 Options:-  

.1, Option ID :- 1309,  

. 2, Option ID :- 1310,  

. 3, Option ID :- 1311,  

. 4, Option ID :- 1312,  

 Answer Given:- 1, Option ID : -1309  
   
   
 Question ID:- 329  

During which one of the following years General Agreement for Tariffs and Trade (GATT) was
transformed into World Trade Organisation (WTO) ?
(1) 1948
(2) 1987
(3) 1995
(4) 1998

3f3TT ?
(1) 1948
(2) 1987
(3) 1995
(4) 1998

Options:-

.1, Option ID 1305,

. 2, Option ID 1306,

. 3, Option ID 1307,

. 4, Option ID 1308,
Answer Given:- 3, Option ID : -1307

Question ID> 328

Kochchi port is located on which one of the following coasts ?
(1) Malabar coast
(2) Coromandel coast
(3) Andhra coast
(4) Odisha coast

iHHfdRad H^VcTZ "91 o|^ll5 3T̂ jWcr f ?
(1) HICINK cR

(2) 'fcltlH'J-Sd tT2

(3) 3ira cTZ

(4) STlfSW clZ

Options:-

.1, Option ID :- 1309,

. 2, Option ID :- 1310,

. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 1, Option ID : -1309

Question ID:- 329
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 Options:-  

.1, Option ID :- 1313,  

. 2, Option ID :- 1314,  

. 3, Option ID :- 1315,  

. 4, Option ID :- 1316,  

 Answer Given:- 4, Option ID : -1316  
   
   
 Question ID:- 330  

   

 Options:-  

.1, Option ID :- 1317,  

. 2, Option ID :- 1318,  

. 3, Option ID :- 1319,  

. 4, Option ID :- 1320,  

 Answer Given:- 2, Option ID : -1318  
   
   
 Question ID:- 331  

The Tropic of Cancer does not pass through which one of the following states of India ?
(1) Rajasthan
(2) Jharkhand
(3) Tripura
(4) Manipur

% fHHfdRacI f^Tf 3 =F#j Jj*Kdl % ?
(1)
(2)
(3) fsgu
(4)

Options:-

.1, Option ID 1313,

. 2, Option ID 1314,

. 3, Option ID 1315,

. 4, Option ID 1316,
Answer Given:- 4, Option ID : -1316

Question ID:- 330

Karewa is found in which one of the following parts of the Himalayas ?
(1) Kashmir Himalaya
(2) Himachal Himalaya
(3) Uttarakhand Himalaya
(4) Sikkim Himalaya

Id4 % fTRfdfecT *fFT *¥ RFTf Well t ?
(1)
(2) P̂ HMd P£Hld4

(3) 6U< l
'<3'S f^HId4!

(4) r̂ r̂ H ffsuR

Options:-

.1, Option ID :- 1317,

. 2, Option ID > 1318,

. 3, Option ID :- 1319,

. 4, Option ID :- 1320,
Answer Given:- 2, Option ID : -1318

Question ID:- 331

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1321,  

. 2, Option ID :- 1322,  

. 3, Option ID :- 1323,  

. 4, Option ID :- 1324,  

 Answer Given:- 2, Option ID : -1322  
   
   
 Question ID:- 332  

   

 Options:-  

.1, Option ID :- 1325,  

. 2, Option ID :- 1326,  

. 3, Option ID :- 1327,  

. 4, Option ID :- 1328,  

 Answer Given:- 3, Option ID : -1327  
   
   
 Question ID:- 333  

Dhaoladhar mountain range is part of which one of the following mountain ranges ?
(1) Greater Himalaya
(2) Lesser Himalaya
(3) Shiwaliks
(4) Trans-Himalaya

?
(1)
(2)
(3) n?Mlici =h

(4)

Options:-

.1, Option ID 1321,

. 2, Option ID 1322,

. 3, Option ID 1323,

. 4, Option ID > 1324,
Answer Given:- 2, Option ID : -1322

Question ID:- 332

Saddle peak, the highest peak of Andaman and Nicobar islands is located in which one of following
islands ?
(1) Great Nicobar
(2) North Andaman
(3) Middle Andaman
(4) South Andaman

PH =bl «lK ighff fHHfclftsId 3 t ?
(1) Tte Pl=hl«IK

(2) JH'-SHM

(3) 3T^TH

(4) 3fSHM

Options:-

.1, Option ID :- 1325,

. 2, Option ID :- 1326,

. 3, Option ID > 1327,

. 4, Option ID :- 1328,
Answer Given:- 3, Option ID : -1327

Question ID:- 333

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1329,  

. 2, Option ID :- 1330,  

. 3, Option ID :- 1331,  

. 4, Option ID :- 1332,  

 Answer Given:- 4, Option ID : -1332  
   
   
 Question ID:- 334  

   

 Options:-  

.1, Option ID :- 1333,  

. 2, Option ID :- 1334,  

. 3, Option ID :- 1335,  

. 4, Option ID :- 1336,  

 Answer Given:- 3, Option ID : -1335  
   
   
 Question ID:- 335  

Gersoppa (Jog) fall is located on which one of the following rivers ?
(1) Juari
(2) Kalinadi
(3) Brahmani
(4) Sharavati

( f̂PT) 'SJeT-Y'M, PlHfdf<ad 3f̂ fMcT t ?
(1) wr
(2)

(3)
(4) ^fKictdl

Options:-

.1, Option ID 1329,

. 2, Option ID 1330,

. 3, Option ID 1331,

. 4, Option ID > 1332,
Answer Given:- 4, Option ID : -1332

Question ID:- 334

According to Koeppen's classification Uttar Pradesh has mainly which type of climate ?
(1) Cwg
(2) As
(3) Amw
(4) Dfc

?[R ^‘SJvraFJ il=hl<
(1) Cwg
(2) As
(3) Amw
(4) Dfc

Options:-

.1, Option ID :- 1333,

. 2, Option ID :- 1334,

. 3, Option ID :- 1335,

. 4, Option ID :- 1336,
Answer Given:- 3, Option ID : -1335

Question ID:- 335

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1337,  

. 2, Option ID :- 1338,  

. 3, Option ID :- 1339,  

. 4, Option ID :- 1340,  

 Answer Given:- 1, Option ID : -1337  
   
   
 Question ID:- 336  

   

 Options:-  

.1, Option ID :- 1341,  

. 2, Option ID :- 1342,  

. 3, Option ID :- 1343,  

. 4, Option ID :- 1344,  

 Answer Given:- 4, Option ID : -1344  
   
   
 Question ID:- 337  

The average annual rainfall variability is highest in which one of the following states ?
(1) Assam
(2) Rajasthan
(3) Meghalaya
(4) Chhattisgarh

sftefcf cjifcta ^nRctRdl PinRiRad RRJ x\ % ?
(1) 3RTR

(2) TF5R5TH

(3) 'AsiIeW
(4)

Options:-

.1, Option ID 1337,

. 2, Option ID 1338,

. 3, Option ID 1339,

. 4, Option ID > 1340,
Answer Given:- Option ID : -1337

Question ID:- 336

The location of which one of the following Biosphere Reserves is NOT correctly matched ?
Meghalaya
Kerala
Karnataka
Odisha

(1) Nokrek
(2) Agasthyamalai
(3) Seshachalam
(4) Simplipal

^ ^^fdd ?RinRlRsld fesf
(1)
(2)
(3) - chdfdch
(4) RiHdlmd- l̂fe^ll

Options:-

.1, Option ID :- 1341,

. 2, Option ID :- 1342,

. 3, Option ID :- 1343,

. 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1345,  

. 2, Option ID :- 1346,  

. 3, Option ID :- 1347,  

. 4, Option ID :- 1348,  

 Answer Given:- 4, Option ID : -1348  
   
   
 Question ID:- 338  

   

 Options:-  

.1, Option ID :- 1349,  

. 2, Option ID :- 1350,  

. 3, Option ID :- 1351,  

. 4, Option ID :- 1352,  

 Answer Given:- 1, Option ID : -1349  
   
   
 Question ID:- 339  

Silver firs, junipers and rhododendrons trees are common in which one of the following altitudinal
ranges in Himalayas ?
(1) 1000 - 2000 m
(2) 2000 - 3000 m
(3) 3000 - 4000 m
(4) 4000 - 5000 m

(Vilcl -M FVlceK ''TR, ^p1H < cfSTT faHIdRad WTPT f ?
(1) 1000 - 2000

(2) 2000 - 3000

(3) 3000 - 4000 Rt.
(4) 4000 - 5000

Options:-

.1, Option ID 1345,

. 2, Option ID > 1346,

. 3, Option ID 1347,

. 4, Option ID > 1348,
Answer Given:- 4, Option ID : -1348

Question ID:- 338

Which of the following soils are rich in iron oxide and aluminium compounds due to intense
leaching ?
(1) Laterite soils
(2) Red soils
(3) Black soils
(4) Alluvial soils

7TO R

t?
(1)
(2) vIM 'fKP!
(3)
(4) Medico

Options:-

.1, Option ID :- 1349,

. 2, Option ID :- 1350,

. 3, Option ID :- 1351,

. 4, Option ID :- 1352,
Answer Given:- 1, Option ID : -1349

Question ID:- 339

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1353,  

. 2, Option ID :- 1354,  

. 3, Option ID :- 1355,  

. 4, Option ID :- 1356,  

 Answer Given:- 1, Option ID : -1353  
   
   
 Question ID:- 340  

   

 Options:-  

.1, Option ID :- 1357,  

. 2, Option ID :- 1358,  

. 3, Option ID :- 1359,  

. 4, Option ID :- 1360,  

 Answer Given:- 3, Option ID : -1359  
   
   
 Question ID:- 341  

Which of the following is commonly added to solve the problem of soil salinity ?
(1) Gypsum
(2) Urea
(3) Potash
(4) Phosphate

crl̂ TcfT ?
(1) fsP4TP

(2)
(3) item
(4) 'hfpfcz

Options:-

.1, Option ID 1353,

. 2, Option ID 1354,

. 3, Option ID 1355,

. 4, Option ID 1356,
Answer Given:- -\ , Option ID : -1353

Question ID:- 340

Which one of the following decades represents the International Decade for Natural Disaster
Reduction ?
(1) 1990 - 2000
(2) 2000 - 2010
(3) 2010 - 2020
(4) 1980 - 1990

?^ “RT
(1) 1990-2000
(2) 2000-2010
(3) 2010-2020
(4) 1980-1990

Options:-

.1, Option ID :- 1357,

. 2, Option ID :- 1358,

. 3, Option ID :- 1359,

. 4, Option ID :- 1360,
Answer Given:- 3, Option ID : -1359

Question ID:- 341

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1361,  

. 2, Option ID :- 1362,  

. 3, Option ID :- 1363,  

. 4, Option ID :- 1364,  

 Answer Given:- 4, Option ID : -1364  
   
   
 Question ID:- 342  

   

 Options:-  

.1, Option ID :- 1365,  

. 2, Option ID :- 1366,  

. 3, Option ID :- 1367,  

. 4, Option ID :- 1368,  

 Answer Given:- 3, Option ID : -1367  
   
   
 Question ID:- 343  

The Kachchh region of Gujarat falls under which one of the following earthquake damage risk
zones ?
(1) Low Damage Risk zone
(2) Moderate Damage Risk zone
(3) High Damage Risk zone
(4) Very High Damage Risk zone

JpRTcf ^ % PinRlRafl f^TT 33TTcTT % ?
(1) fTH STfd JilRsiM
(2) 'RKR Srfcf l̂lRsW
(3) "3̂ 'silRgn

(4) 3TrqfVTi‘ ^PislH

Options:-

.1, Option ID 1361,

. 2, Option ID > 1362,

. 3, Option ID 1363,

. 4, Option ID > 1364,
Answer Given:- 4, Option ID : -1364

Question ID:- 342

Frequency of cyclonic storms in India is highest during which of the following months ?
(1) April - May
(2) May - June
(3) July - August
(4) October - November

HRrt 3 -dsfcdldl cJMoHl'^®|KHKdl PinltlRgd % ?
(1)
(2)
(3) 'JjC'll^-SldKI

(4)

Options:-

.1, Option ID :- 1365,

. 2, Option ID :- 1366,

. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 3, Option ID : -1367

Question ID:- 343

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1369,  

. 2, Option ID :- 1370,  

. 3, Option ID :- 1371,  

. 4, Option ID :- 1372,  

 Answer Given:- 1, Option ID : -1369  
   
   
 Question ID:- 344  

   

 Options:-  

.1, Option ID :- 1373,  

. 2, Option ID :- 1374,  

. 3, Option ID :- 1375,  

. 4, Option ID :- 1376,  

 Answer Given:- 2, Option ID : -1374  
   
   
 Question ID:- 345  

Trans-Himalayan area of Ladakh and Spiti falls under which one of the following Landslide
Vulnerability zones ?
(1) Very High Vulnerability zone
(2) High Vulnerability zone
(3) Moderate to Low Vulnerability Zone
(4) Safe from landslides

R-Mdl \-K9crH

(1) RRTfRRT ^%RTT

(2) ^TRCTT $3T

(3) R*RR ^ RTR

(4) \-H9dH R RlfRS

?

Options:-

.1, Option ID 1369,

. 2, Option ID > 1370,

. 3, Option ID 1371,

. 4, Option ID > 1372,
Answer Given:- 1, Option ID : -1369

Question ID:- 344

Which one of the following natural disasters is grouped under atmospheric origin ?
(1) Flood
(2) Cyclone
(3) Landslide
(4) Avalanche

t ?fdHfdRad yl'Jifdcfc *¥ R fcb<-l <=bl RPJRSvTlR % RR "if RRfficT fRIRI RTcfl

(1) RTS

(2) RsMld

(3)

(4) ftvRFQvH

Options:-

.1, Option ID :- 1373,

. 2, Option ID :- 1374,

. 3, Option ID > 1375,

. 4, Option ID :- 1376,
Answer Given:- 2, Option ID : -1374

Question ID:- 345

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1377,  

. 2, Option ID :- 1378,  

. 3, Option ID :- 1379,  

. 4, Option ID :- 1380,  

 Answer Given:- 3, Option ID : -1379  
   
   
 Question ID:- 346  

   

 Options:-  

.1, Option ID :- 1381,  

. 2, Option ID :- 1382,  

. 3, Option ID :- 1383,  

. 4, Option ID :- 1384,  

 Answer Given:- 2, Option ID : -1382  
   
   
 Question ID:- 347  

Which one of the following statements is correct ?
(1) Noise pollution is measured in Dobson units.
(2) Bronchitis disease is caused by water pollution.
(3) Urban smog is caused by atmospheric pollution.
(4) Urban solid waste is collected and disposed efficiently in non-metropolitan cities of India.

PlHPdRsld 3 4TT t ?
(1) Phil ‘SfTdT11
(2) ¥d*Hdcl) ^Tf ^T fpy tsfef y^ul gRI llcTT % I

(3) 'FRfa y^ul £KT ^tcTT 11
(4) cflR 3R[f|T? TT5F3UI IdHild ^TRcf % "RRl ^dl^yl ^IcTT f I

Options:-

.1, Option ID 1377,

. 2, Option ID 1378,

. 3, Option ID 1379,

. 4, Option ID 1380,
Answer Given:- 3, Option ID : -1379

Question ID:- 346

Which one of the following statements is correct ?
(1) Jhabua district is located in Maharashtra.
(2) Jhabua district has high concentration of Gond tribe.
(3) In Jhabua administration managed CommonProperty Resources without people participation.
(4) Watershed management approach improved livelihoods of people in Jhabua.

fHHfdRad 3 RT Rift t ?
(1) ^rTfeTRSRTgTffcsRTtl
(2) fact 3Tffe ^H'dlfd ^RTSR 11
(3) 3JW?PT ^ fll§il HHdl RRTPPT ^5T f®Hl '•dd 4T§̂ TrfhcTT % yot F̂T I

(4) TfSRH dHldM ^ ^F|3TI % UPtf STUftfaRFr Rf^-TR |

Options:-

.1, Option ID :- 1381,

. 2, Option ID > 1382,

. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 2, Option ID : -1382

Question ID:- 347

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1385,  

. 2, Option ID :- 1386,  

. 3, Option ID :- 1387,  

. 4, Option ID :- 1388,  

 Answer Given:- 3, Option ID : -1387  
   
   
 Question ID:- 348  

   

 Options:-  

.1, Option ID :- 1389,  

. 2, Option ID :- 1390,  

. 3, Option ID :- 1391,  

. 4, Option ID :- 1392,  

 Answer Given:- 1, Option ID : -1389  
   
   
 Question ID:- 349  

National Waterway no. 3 is operational in which one of the following states ?
(1) Kerala
(2) Andhra Pradesh
(3) Odisha
(4) Assam

'JICIHH! 3 PinfeiRsid 7TOT if H ?
(1)

(2) 3TT̂ ^T

(3) afrfeyn

(4) 3T4TP

Options:-

.1, Option ID 1385,

. 2, Option ID 1386,

. 3, Option ID 1387,

. 4, Option ID 1388,
Answer Given:- 3, Option ID : -1387

Question ID:- 348

In which year the satellite IRS - 1A was launched by India ?
(1) 1975
(2) 1983
(3) 1988
(4) 1992

TO^ ^if 31R TR-oR TX (IRS-1A) 3MU6 ?
(1) 1975
(2) 1983
(3) 1988
(4) 1992

Options:-

.1, Option ID :- 1389,

. 2, Option ID :- 1390,

. 3, Option ID :- 1391,

. 4, Option ID :- 1392,
Answer Given:- 1, Option ID : -1389

Question ID:- 349

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1393,  

. 2, Option ID :- 1394,  

. 3, Option ID :- 1395,  

. 4, Option ID :- 1396,  

 Answer Given:- 3, Option ID : -1395  
   
   
 Question ID:- 350  

   

 Options:-  

.1, Option ID :- 1397,  

. 2, Option ID :- 1398,  

. 3, Option ID :- 1399,  

. 4, Option ID :- 1400,  

 Answer Given:- 1, Option ID : -1397  
   
   
 Question ID:- 351  

Hill Area Development Programme was initiated in which one of the following Five Year Plans ?
(1) Third
(2) Fourth
(3) Fifth
(4) Sixth

(1)
(2) ^(3) ThWl
(4) ^

Options:-

.1, Option ID 1393,

. 2, Option ID 1394,

. 3, Option ID 1395,

. 4, Option ID > 1396,
Answer Given:- 3, Option ID : -1395

Question ID:- 350

Dalli-Rajhara iron ore mines are located in which one of the following states ?
(1) Odisha
(2) Chhattisgarh
(3) Karnataka
(4) Jharkhand

•ScrlV<Ne<l vftl? 3PR3) <3<;|} PiHPelfad fan TRT 3 falcf 11
(1) ntfgm

(2)
(3) =b-lf <± cb

(4) $iK<as

Options:-

.1, Option ID :- 1397,

. 2, Option ID :- 1398,

. 3, Option ID :- 1399,

. 4, Option ID > 1400,
Answer Given:- 1, Option ID : -1397

Question ID:- 351

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1401,  

. 2, Option ID :- 1402,  

. 3, Option ID :- 1403,  

. 4, Option ID :- 1404,  

 Answer Given:- 3, Option ID : -1403  
   
   
 Question ID:- 352  

   

 Options:-  

.1, Option ID :- 1405,  

. 2, Option ID :- 1406,  

. 3, Option ID :- 1407,  

. 4, Option ID :- 1408,  

 Answer Given:- 1, Option ID : -1405  
   
   
 Question ID:- 353  

Kakarapura nuclear power project is located in which of the following states ?
(1) Rajasthan
(2) Karnataka
(3) Gujarat
(4) Uttar Pradesh

chlch < IHI -Sl [HHR^RSCI < 1̂ R^d ?
(1)
(2) =bdR =fr
(3) 4j*kld

(4) 3TR-R^?T

Options:-

.1, Option ID 1401,

. 2, Option ID 1402,

. 3, Option ID 1403,

. 4, Option ID > 1404,
Answer Given:- 3, Option ID : -1403

Question ID:- 352

Due to topographical, hydrological and other constraints which one of the following percentages
represents the available surface water for utilization in India ?
(1) 60 percent
(2) 48 percent
(3) 32 percent
(4) 71 percent

^dl^fddi, 'Jldl'M 3PT hPTDff % <*> Kul PdHfdRdd yPd^ldt it hiR HI, hKd v54d<*T feuiddi -M
with hhh hit y<Rfd hRdT % ?
(1) 60 yfcRld

(2) 48 hfcWh
(3) 32 yfd'^d

(4) 71 yfd^ld

Options:-

.1, Option ID :- 1405,

. 2, Option ID :- 1406,

. 3, Option ID :- 1407,

. 4, Option ID :- 1408,
Answer Given:- 1, Option ID : -1405

Question ID:- 353

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 1409,  

. 2, Option ID :- 1410,  

. 3, Option ID :- 1411,  

. 4, Option ID :- 1412,  

 Answer Given:- 3, Option ID : -1411  
   
   
 Question ID:- 354  

   

 Options:-  

.1, Option ID :- 1413,  

. 2, Option ID :- 1414,  

. 3, Option ID :- 1415,  

. 4, Option ID :- 1416,  

 Answer Given:- 3, Option ID : -1415  
   
   
 Question ID:- 355  

About 90 percent of India's surface and ground water is utilised by which one of the following
sectors ?
(1) Agriculture
(2) Urban
(3) Power and Industry
(4) Domestic

*fRrT % 90 HpRld feKidvflq ^TcT PiHPelfed f^T f^TT *TRTT % I

(1) ^1

(2)
(3) "SSrPT
(4)

Options:-

.1, Option ID 1409,

. 2, Option ID > 1410,

. 3, Option ID 1411,

. 4, Option ID > 1412,
Answer Given:- 3, Option ID : -1411

Question ID:- 354

Which one of the following river basins is located to the southernmost ?
(1) Krishna
(2) Godavari
(3) Kaveri
(4) Tapi

PHHPdfed^olpHii 3 Tl TIT^T°TCPT TPT *¥ 3T̂ lTSTcT f ?
(1) =piTT

(2) Jfe|c»0
(3) d-iH -O
(4) cTTTf

Options:-

.1, Option ID :- 1413,

. 2, Option ID :- 1414,

. 3, Option ID :- 1415,

. 4, Option ID :- 1416,
Answer Given:- 3, Option ID : -1415

Question ID> 355

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1417,  

. 2, Option ID :- 1418,  

. 3, Option ID :- 1419,  

. 4, Option ID :- 1420,  

 Answer Given:- 1, Option ID : -1417  
   
   
 Question ID:- 356  

   

 Options:-  

.1, Option ID :- 1421,  

. 2, Option ID :- 1422,  

. 3, Option ID :- 1423,  

. 4, Option ID :- 1424,  

 Answer Given:- 2, Option ID : -1422  
   
   
 Question ID:- 357  

The Water Cess Act was introduced during which one of the following years ?
(1) 1974
(2) 1977
(3) 1986
(4) 1997

^ PinRlRdd fsF^FT 4̂ P eTFjf^RT W ?
(1) 1974
(2) 1977
(3) 1986
(4) 1997

Options:-

.1, Option ID 1417,

. 2, Option ID 1418,

. 3, Option ID 1419,

. 4, Option ID > 1420,
Answer Given:- 1, Option ID : -1417

Question ID:- 356

Which one of the following statements is correct ?
(1) Neeru-Meeru programme is related to Tamil Nadu state.
(2) Ralegan Siddhi is a small village in Ahmadnagar district of Maharashtra.
(3) Jal Kranti Abhiyan for food security was launched in 2017-18.
(4) Arvary Pani Sansad is active in afforestation in North Bihar.

fdHRlRsid 3 UT Tnft f ?
(1) d>l4shH dfaeldl^ TFR ^ %l

(2) TRTR fufe PfTTR % ^ UR1? I

(3) F̂iffcT 3lf*RTH THU TJCSli %?[ 2017-18 *5f 3TRTU fTRT UUT I

(4) 3i <q|<1 xfpfl UUU ^3rRt f f̂fR 3^I <1 HUI 3 UfSR 11
Options:-

.1, Option ID :- 1421,

. 2, Option ID :- 1422,

. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 2, Option ID : -1422

Question ID:- 357

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1425,  

. 2, Option ID :- 1426,  

. 3, Option ID :- 1427,  

. 4, Option ID :- 1428,  

 Answer Given:- 1, Option ID : -1425  
   
   
 Question ID:- 358  
   

Which one of the followings represents Net Sown Area in India dining 2014-15 ?
(1) 307.82 million hectare
(2) 140.13 million hectare
(3) 15.09 million hectare
(4) 119.00 million hectare

PinRlRsld 3 FfT *JRct *¥ 2014-15 fH^ci <v?lidl t ?
(1) 307.82 f*#FH

(2) 140.13

(3) 15.09 f*#PH t^R

(4) 119.00 fhfeRH t^R

Options:-

.1, Option ID 1425,

. 2, Option ID 1426,

. 3, Option ID 1427,

. 4, Option ID > 1428,
Answer Given:- 1, Option ID : -1425

Question ID:- 358

According to FAO Agriculture Statistics India was rank 1 in world production during 2018 in
which one of the following crops ?
(A) Rice
(B) Wheat
(C) Jute
(D) Sugarcane
Choose the correct option :
(1) (A), (C) and (D)
(2) (Q and (D)
(3) Only (C)
(4) Only (D)
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 Options:-  

.1, Option ID :- 1429,  

. 2, Option ID :- 1430,  

. 3, Option ID :- 1431,  

. 4, Option ID :- 1432,  

 Answer Given:- 2, Option ID : -1430  
   
   
 Question ID:- 359  

   

 Options:-  

.1, Option ID :- 1433,  

. 2, Option ID :- 1434,  

. 3, Option ID :- 1435,  

. 4, Option ID :- 1436,  

 Answer Given:- 2, Option ID : -1434  
   
   
 Question ID:- 360  

T^T> 3?t (FAO) % f̂ Rf T̂ferT MrHcli 3^ 2018 f̂ •ck^'l *f TO! WR
sFcrqr «n ?
(A)

(B) M
(Q ^
(D) W

Wt fqchcrM :

(1) A, C cM D
(2) C cTSJT D
(3) %̂ eT C

(4) %cfcl D

Options:-

.1, Option ID :- 1429,

. 2, Option ID :- 1430,

. 3, Option ID :- 1431,

. 4, Option ID :- 1432,
Answer Given:- 2, Option ID : -1430

Question ID:- 359

Which one of the following Cotton textile industry centres is located in northernmost location ?
(1) Ujjain
(2) Kanpur
(3) Aurangabad
(4) Ahmedabad

PIHRIRSICI IJcft cR-?i R OTR

(1)
(2)

(3) 3lt<Jll <stK

(4) 3H^MC;NK

Options:-

.1, Option ID :- 1433,

. 2, Option ID :- 1434,

. 3, Option ID :- 1435,

. 4, Option ID :- 1436,
Answer Given:- 2, Option ID : -1434

Question ID:- 360

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1437,  

. 2, Option ID :- 1438,  

. 3, Option ID :- 1439,  

. 4, Option ID :- 1440,  

 Answer Given:- 1, Option ID : -1437  
   

Print ResponseSheet

Which one of the following districts is NOT in Telangana state ?
(1) Warangal
(2) Nalgonda
(3) Medak
(4) Nellore

PinfclRacl ^ 4TT fvHell cltfMHI
(1) c(|<4|cri

(2) *ld«fisi
(3) teF
(4)

Tl̂ T

Options:-.1,Option ID 1437,
.2, Option ID 1438,
.3,Option ID 1439,
. 4, Option ID > 1440,
Answer Given:- Option ID : -1437

Print ResponseSheet
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Exam Shift : EveningExam date : 18.02.2023

KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Post : PGT

Qno keyQuestion Description

001 2General English

002 3General English

003 2General English

004 3General English

005 3General English

006 4General English

007 2General English

008 2General English

009 3General English

010 2General English

011 2General Hindi

012 2General Hindi

013 4General Hindi

014 1General Hindi

015 4General Hindi

016 4General Hindi

017 3General Hindi

018 1General Hindi

019 4General Hindi

020 2General Hindi

021 1General Awareness& Current Affairs

022 3General Awareness& Current Affairs

023 1General Awareness& Current Affairs

024 2General Awareness& Current Affairs

025 2General Awareness& Current Affairs

026 2General Awareness& Current Affairs

027 4General Awareness& Current Affairs

028 4General Awareness& Current Affairs

029 3General Awareness& Current Affairs

030 4General Awareness& Current Affairs

031 2Reasoning Ability

032 4Reasoning Ability

033 1Reasoning Ability

034 3Reasoning Ability

035 4Reasoning Ability

036 4Computer Literacy

037 4Computer Literacy

038 1Computer Literacy

039 2Computer Literacy

040 1Computer Literacy

041 4Understanding the Learner

042 3Understanding the Learner

043 3Understanding the Learner

044 2Understanding the Learner

045 2Understanding the Learner

046 1Understanding the Learner

047 3Understanding the Learner

048 3Understanding the Learner

049 4Understanding the Learner

050 4Understanding the Learner

051 2Understanding the Learner

Qno keyQuestion Description

052 4Understanding the Learner

053 3Understanding the Learner

054 2Understanding the Learner

055 2Understanding the Learner

056 4Understanding Teaching Learning

057 3Understanding Teaching Learning

058 3Understanding Teaching Learning

059 2Understanding Teaching Learning

060 2Understanding Teaching Learning

061 1Understanding Teaching Learning

062 3Understanding Teaching Learning

063 2Understanding Teaching Learning

064 2Understanding Teaching Learning

065 3Understanding Teaching Learning

066 3Understanding Teaching Learning

067 3Understanding Teaching Learning

068 1Understanding Teaching Learning

069 4Understanding Teaching Learning

070 1Understanding Teaching Learning

071 1Creating Conducive Learning Env. Etc.

072 2Creating Conducive Learning Env. Etc.

073 4Creating Conducive Learning Env. Etc.

074 2Creating Conducive Learning Env. Etc.

075 3Creating Conducive Learning Env. Etc.

076 3Creating Conducive Learning Env. Etc.

077 4Creating Conducive Learning Env. Etc.

078 1Creating Conducive Learning Env. Etc.

079 2Creating Conducive Learning Env. Etc.

080 1Creating Conducive Learning Env. Etc.

081 3MATHS

082 1MATHS

083 4MATHS

084 4MATHS

085 3MATHS

086 4MATHS

087 4MATHS

088 4MATHS

089 3MATHS

090 1MATHS

091 3MATHS

092 4MATHS

093 3MATHS

094 3MATHS

095 1MATHS

096 2MATHS

097 3MATHS

098 2MATHS

099 4MATHS

100 2MATHS

101 1MATHS

102 2MATHS

Qno keyQuestion Description

103 1MATHS

104 4MATHS

105 3MATHS

106 1MATHS

107 3MATHS

108 3MATHS

109 2MATHS

110 4MATHS

111 3MATHS

112 3MATHS

113 3MATHS

114 1MATHS

115 4MATHS

116 2MATHS

117 1MATHS

118 4MATHS

119 3MATHS

120 3MATHS

121 3MATHS

122 4MATHS

123 2MATHS

124 2MATHS

125 3MATHS

126 4MATHS

127 2MATHS

128 3MATHS

129 4MATHS

130 2MATHS

131 3MATHS

132 3MATHS

133 4MATHS

134 1MATHS

135 3MATHS

136 4MATHS

137 3MATHS

138 4MATHS

139 3MATHS

140 1,2MATHS

141 1MATHS

142 4MATHS

143 3MATHS

144 2MATHS

145 2MATHS

146 1MATHS

147 3MATHS

148 2MATHS

149 4MATHS

150 4MATHS

151 3MATHS

152 1MATHS

153 1MATHS
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Exam Shift : EveningExam date : 18.02.2023

KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Post : PGT

Qno keyQuestion Description

154 2MATHS

155 4MATHS

156 4MATHS

157 4MATHS

158 3MATHS

159 1MATHS

160 2MATHS

161 3MATHS

162 3MATHS

163 3MATHS

164 2MATHS

165 3MATHS

166 2MATHS

167 2MATHS

168 4MATHS

169 3MATHS

170 2MATHS

171 1MATHS

172 3MATHS

173 1MATHS

174 4MATHS

175 2MATHS

176 3MATHS

177 4MATHS

178 2MATHS

179 3MATHS

180 3MATHS

081 4GEOGRAPHY

082 3GEOGRAPHY

083 1GEOGRAPHY

084 2GEOGRAPHY

085 3GEOGRAPHY

086 2GEOGRAPHY

087 1GEOGRAPHY

088 4GEOGRAPHY

089 3GEOGRAPHY

090 2GEOGRAPHY

091 3GEOGRAPHY

092 1GEOGRAPHY

093 4GEOGRAPHY

094 2GEOGRAPHY

095 3GEOGRAPHY

096 4GEOGRAPHY

097 3GEOGRAPHY

098 1GEOGRAPHY

099 2GEOGRAPHY

100 4GEOGRAPHY

101 2GEOGRAPHY

102 3GEOGRAPHY

103 1GEOGRAPHY

104 4GEOGRAPHY

Qno keyQuestion Description

105 3GEOGRAPHY

106 1GEOGRAPHY

107 3GEOGRAPHY

108 2GEOGRAPHY

109 4GEOGRAPHY

110 1GEOGRAPHY

111 3GEOGRAPHY

112 2GEOGRAPHY

113 2GEOGRAPHY

114 4GEOGRAPHY

115 1GEOGRAPHY

116 2GEOGRAPHY

117 4GEOGRAPHY

118 1GEOGRAPHY

119 3GEOGRAPHY

120 4GEOGRAPHY

121 2GEOGRAPHY

122 1GEOGRAPHY

123 3GEOGRAPHY

124 4GEOGRAPHY

125 2GEOGRAPHY

126 3GEOGRAPHY

127 3GEOGRAPHY

128 1GEOGRAPHY

129 4GEOGRAPHY

130 2GEOGRAPHY

131 4GEOGRAPHY

132 3GEOGRAPHY

133 2GEOGRAPHY

134 1GEOGRAPHY

135 2GEOGRAPHY

136 3GEOGRAPHY

137 4GEOGRAPHY

138 3GEOGRAPHY

139 4GEOGRAPHY

140 2GEOGRAPHY

141 3GEOGRAPHY

142 2GEOGRAPHY

143 1GEOGRAPHY

144 3GEOGRAPHY

145 1GEOGRAPHY

146 2GEOGRAPHY

147 3GEOGRAPHY

148 1GEOGRAPHY

149 4GEOGRAPHY

150 1GEOGRAPHY

151 2GEOGRAPHY

152 2GEOGRAPHY

153 4GEOGRAPHY

154 1GEOGRAPHY

155 2GEOGRAPHY

Qno keyQuestion Description

156 3GEOGRAPHY

157 3GEOGRAPHY

158 1GEOGRAPHY

159 1GEOGRAPHY

160 1GEOGRAPHY

161 4GEOGRAPHY

162 4GEOGRAPHY

163 3GEOGRAPHY

164 2GEOGRAPHY

165 3GEOGRAPHY

166 4GEOGRAPHY

167 1GEOGRAPHY

168 3GEOGRAPHY

169 3GEOGRAPHY

170 2GEOGRAPHY

171 3GEOGRAPHY

172 3GEOGRAPHY

173 1GEOGRAPHY

174 3GEOGRAPHY

175 2GEOGRAPHY

176 2GEOGRAPHY

177 2GEOGRAPHY

178 3GEOGRAPHY

179 2GEOGRAPHY

180 4GEOGRAPHY
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